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Read the passage and answer the followmg questions:

British luxury carmaker Rolls-Royce has successfully tested its new,
experimental airliner engine UltraFan technology demonstrator to maximum
power in its facility in Derby. UK, the firm has announced.

The initial stage of the test was conducted using 100 per cent Sustainable
Awiation Fuel (SAF). it said.

"UltraFan demonstrator engine's run to full power took place in the world's
largest and smartest indoor acro-engine testing facility - Testbed 80. in Derby,
UK." the company said in a media release on Tuesday. The new UltraFan is 10
per cent more efficient than Rolls-Roycee's Trent XWB, which s already the
most efficient large aero-engine in service anywhere. In total, that is a 25 per
cent efficiency gam since the launch of the first Trent engme. it said.

UltraFan's scalable technology - from 25.000-110,000 pounds of thrust -allows
the new engme to power the narrow-body airliners that form the bulk of
commercial airline fleets. Currently. Rolls-Royce only produces the large engmes
needed for powering twin engine, wide-body passenger airlines.

That leaves it out of the larger. more lucrative market for the smaller engmes that
power single-aisle aircraft. That market is dominated by its rivals - engine-
makers Pratt & Whitney, General Electric and Safran. "As part of the UltraFan
development programme, we have identified a number of technologies that are
potentially transferable to our current Trent engines... The results of the test wall
provide us with valuable learning and data, which our teams will now take away
and continue to analyse.” said the company.

Besides wide-body commercial airliners, Rolls-Royce has a major presence in
military aero engines and maritime engines that power warships. This test is an
important milestone for the UltraFan demonstrator, which was tested
successfully for the first time earlier this year. Since then, the UltraFan team has
gradually increased power as part of the testing regime.

"This fantastic milestone puts us in a strong position to support plans of our
customers as they develop the next generation of super efficient arcraft.’ said the
CEO. of Rolls-Royce.

Sub questions

Question Number : 1 Question Id : 4058592107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A

Which 1s the old engine of Rolls-Royee?
Options:

4058596931. UltraFan



4058596932. Testbed 80

4058596933. Trent XWB

4058596934. None of the above

Question Number : 2 Question Id : 4058592108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the mcorrect statement from the following:
Options:

4058596935, UltraFan technology 1s 100% sustainable.

4058596936. UltraFan 15 10% more efficient than Trent XWB.

4058596937, UltraFan can power narrow-body airliners.

4058596938, Trent XWB is the most efficient large acro-engine service anywhere.

Question Number : 3 Question Id : 4058592109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement trom the following:
Options :

4058596939, Rolls-Royce has minor presence military aero engines.



4058596940, Rolls-Royce has done major contribution to maritime engine that power warships.

4058596941, UltraFan is a customer support development designed for next generation.

4058596942, Rolls-Royee is responsible only for new engines that power narrow body airlines.

Question Number : 4 Question Id : 4058592110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that nearly means the same as:

'The one who corroborates'.

Options :

4058596943, demonstrator

4058596944, generation

4058596945, learning

4058596946, Super-efficient

Question Number : 5 Question Id : 4058592111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means:

'a very important stage or event in the development of something'.

Options :

4058596947. scalable



4058596948, lucrative

4058596949, milestone

4058596950, regime

Question Id : 4058592106 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (1 to 5)

Question Label : Comprehension



Read the passage and answer the followmg questions:

British luxury carmaker Rolls-Royce has successfully tested its new,
experimental airliner engine UltraFan technology demonstrator to maximum
power in its facility in Derby. UK, the firm has announced.

The initial stage of the test was conducted using 100 per cent Sustainable
Awiation Fuel (SAF). it said.

"UltraFan demonstrator engine's run to full power took place in the world's
largest and smartest indoor acro-engine testing facility - Testbed 80. in Derby,
UK." the company said in a media release on Tuesday. The new UltraFan is 10
per cent more efficient than Rolls-Roycee's Trent XWB, which s already the
most efficient large aero-engine in service anywhere. In total, that is a 25 per
cent efficiency gam since the launch of the first Trent engme. it said.

UltraFan's scalable technology - from 25.000-110,000 pounds of thrust -allows
the new engme to power the narrow-body airliners that form the bulk of
commercial airline fleets. Currently. Rolls-Royce only produces the large engmes
needed for powering twin engine, wide-body passenger airlines.

That leaves it out of the larger. more lucrative market for the smaller engmes that
power single-aisle aircraft. That market is dominated by its rivals - engine-
makers Pratt & Whitney, General Electric and Safran. "As part of the UltraFan
development programme, we have identified a number of technologies that are
potentially transferable to our current Trent engines... The results of the test wall
provide us with valuable learning and data, which our teams will now take away
and continue to analyse.” said the company.

Besides wide-body commercial airliners, Rolls-Royce has a major presence in
military aero engines and maritime engines that power warships. This test is an
important milestone for the UltraFan demonstrator, which was tested
successfully for the first time earlier this year. Since then, the UltraFan team has
gradually increased power as part of the testing regime.

"This fantastic milestone puts us in a strong position to support plans of our
customers as they develop the next generation of super efficient arcraft.’ said the
CEO. of Rolls-Royce.

Sub questions

Question Number : 1 Question Id : 4058592107 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A

Which 1s the old engine of Rolls-Royee?
Options:

4058596931. UltraFan



4058596932. Testbed 80

4058596933. Trent XWB

4058596934. None of the above

Question Number : 2 Question Id : 4058592108 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the mcorrect statement from the following:
Options:

4058596935, UltraFan technology 1s 100% sustainable.

4058596936. UltraFan 15 10% more efficient than Trent XWB.

4058596937, UltraFan can power narrow-body airliners.

4058596938, Trent XWB is the most efficient large acro-engine service anywhere.

Question Number : 3 Question Id : 4058592109 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct statement trom the following:
Options :

4058596939, Rolls-Royce has minor presence military aero engines.



4058596940, Rolls-Royce has done major contribution to maritime engine that power warships.

4058596941, UltraFan is a customer support development designed for next generation.

4058596942, Rolls-Royee is responsible only for new engines that power narrow body airlines.

Question Number : 4 Question Id : 4058592110 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that nearly means the same as:

'The one who corroborates'.

Options :

4058596943, demonstrator

4058596944, generation

4058596945, learning

4058596946, Super-efficient

Question Number : 5 Question Id : 4058592111 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word that means:

'a very important stage or event in the development of something'.

Options :

4058596947. scalable



4058596948, lucrative

4058596949, milestone

4058596950, regime

Sub-Section Number : 2
Sub-Section Id : 405859146
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592112 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (6 to 11)

Question Label : Comprehension

Read the passage and answer the following questions:

Temples often have some pillars portraying human figures playing musical
mstruments. but seldom do these pillars themselves produce music. At the
Nellaiappar temple in Tamil Nadu, gentle taps on a cluster of pillars carved out of
a single piece of rock produce the basic notes of Indian classical music. viz, Sa.
Re. Ga, Ma. Pa, Dha. Ni. Sa. Vibrations of these pillars depend on elasticity of the
stone used. its density and shape.

Musical pillars are categorized into three types: The first 1s called the Shruti Pillar,
as 1t can produce the basic notes - the 'swaras". The second type is the Gana
Thoongal. which generates the basic tunes that make up the "ragas". The third
variety 1s the Laya Thoongal pillars that produce "taal" (beats) when tapped. The
pillars at the Nallaiappar temple are a combination of the Shruti and Laya types.

Archaeologists date the Nelliappar temple to the 7th century and claim 1t was built
by successive rulers of the Pandyan dynasty.

The musical pillars of Nelliappar and several other temples in Southern India like
those at Hampi. Kanyakumari and Thiruvananthapuram are unique to the country
and have no parallel in any other part of the world.

Sub questions



Question Number : 6 Question Id : 4058592113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A unique feature of Nellaiappar temple 1 Tanul Nadu 1s -
Options :

4058596951 1t has pillars portraying human figures playing musical instruments.

4058596952, 1t has pillars carved out of a single piece of rock.

4058596953, 1t has pillars producing basic notes of Indian classical musie.

4058596954, 1t has pillars that vibrate.

Question Number : 7 Question Id : 4058592114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The musical note produced by a pillar depends upon -

Options :

4058596955, the shape of the pillar.

4058596956, the vibrations of the pillar.

4058596957, the force of the tap on the pillar.

4058596958, the elasticity of the stone. its density and shape.



Question Number : 8 Question Id : 4058592115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The pillars producing the sound 'Sa. Re. Ga. Ma. Pa, Dha. Ni. Sa' are known as -

Options :

4058596959, musical pillars

4058596960, Shruti pillars

4058596961, Gana Thoongal

4058596962, Laya Thoongal

Question Number : 9 Question Id : 4058592116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The pillars at Nellaiappar temple are a combination of -
Options:

4058596963, Shruti and Laya

4058596964, Swara and Taal

4058596965, Gana and Laya

4058596966, Raagas and Taal Thoongal

Question Number : 10 Question Id : 4058592117 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The passage mentions places where musical pillars are found.

Options :

| )

4058596967.

4058596968. 3

40585969609. 4

L

4058596970.

Question Number : 11 Question Id : 4058592118 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A synonym of 'consecutive' from the passage is -
Options:

4058596971. Seldom

4058596972. Cluster

4058596973. Successive

4058596974, Parallel

Question Id : 4058592112 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Question Numbers : (6 to 11)

Question Label : Comprehension

Read the passage and answer the following questions:

Temples often have some pillars portraying human figures playing musical
instruments. but seldom do these pillars themselves produce music. At the
Nellaiappar temple in Tamil Nadu, gentle taps on a cluster of pillars carved out of
a single piece of rock produce the basic notes of Indian classical music, viz, Sa.
Re. Ga. Ma. Pa. Dha. Ni. Sa. Vibrations of these pillars depend on elasticity of the
stone used, its density and shape.

Musical pillars are categorized into three types: The first 1s called the Shruti Pillar,
as 1t can produce the basic notes - the 'swaras". The second type is the Gana
Thoongal. which generates the basic tunes that make up the "ragas". The third
variety is the Laya Thoongal pillars that produce "taal" (beats) when tapped. The
pillars at the Nallaiappar temple are a combination of the Shruti and Laya types.

Archacologists date the Nelliappar temple to the 7th century and claim 1t was built
by successive rulers of the Pandyan dynasty.

The musical pillars of Nelliappar and several other temples in Southern India like
those at Hampi. Kanyakumari and Thiruvananthapuram are unique to the country
and have no parallel in any other part of the world.

Sub questions

Question Number : 6 Question Id : 4058592113 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A unique feature of Nellaiappar temple i Tamuil Nadu 1s -

Options :

4058596951 . 1t has pillars portraying human figures playing musical instruments.
4058596952, 1t has pillars carved out of a single piece of rock.

4058596953, 1t has pillars producing basic notes of Indian classical music.

4058596954, it has pillars that vibrate.



Question Number : 7 Question Id : 4058592114 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The musical note produced by a pillar depends upon -

Options :

4058596955, the shape of the pillar.

4058596956, the vibrations of the pillar.

4058596957, the force of the tap on the pillar.

4058596958, the elasticity of the stone. its density and shape.

Question Number : 8 Question Id : 4058592115 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The pillars producing the sound 'Sa. Re. Ga. Ma. Pa. Dha. Ni. Sa' are known as -
Options :

4058596959, musical pillars

4058596960, Shruti pillars

4058596961, Gana Thoongal

4058596962, Laya Thoongal



Question Number : 9 Question Id : 4058592116 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The pillars at Nellaiappar temple are a combination of -
Options :

4058596963, Shruti and Laya

4058596964. Swara and Taal

4058596965, Gana and Laya

4058596966, Raagas and Taal Thoongal

Question Number : 10 Question Id : 4058592117 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The passage mentions places where musical pillars are found.

Options :

| R}

4058596967.

4058596968. 3

4058596969. 4

Lhn

4058596970.

Question Number : 11 Question Id : 4058592118 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A synonym of 'consecutive' from the passage 1s -
Options :

4058596971. Seldom

4058596972. Cluster

4058596973. Successive

4058596974, Parallel

Sub-Section Number : 3
Sub-Section Id : 405859147
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 12 Question Id : 4058592119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word -

An accomplice is a partner in
Options :
4058596975. business

4058596976. crime

4058596977. construction

4058596978, gambling



Question Number : 12 Question Id : 4058592119 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word -

An accomplice is a partner in
Options :

4058596975, business

4058596976. crime

4058596977. construction

4058596978, gambling

Question Number : 13 Question Id : 4058592120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word -

There has been a of books and articles on the subject over the last year.
Options:
4058596979. Prolifration

4058596980. Proliferation

4058596981. Proliferasion



4058596982, Poliferasion

Question Number : 13 Question Id : 4058592120 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word -

There has been a of books and articles on the subject over the last year.
Options:

4058596979. Prolifration

4058596980. Proliferation

4058596981. Proliferasion

4058596982, Poliferasion

Question Number : 14 Question Id : 4058592121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word -

The gang was caught in of stolen goods.
Options :
4058596983. Posecsion

4058596984, Possecion

4058596985. Possescion



4058596986. Possession

Question Number : 14 Question Id : 4058592121 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word -

The gang was caught in of stolen goods.

Options :

4058596983. Posecsion

4058596984, Possecion

4058596985, Possescion

4058596986. Possession

Question Number : 15 Question Id : 4058592122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank -

Hiring local people jobs 1n tourism 1s a beneficial practice.
Options :

4058596987. to

4058596988. 1n



4058596989. for

4058596990. mnto

Question Number : 15 Question Id : 4058592122 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fill in the blank -

Hiring local people jobs 1n tourism 1s a beneficial practice.
Options :

4058596987. to

4058596988. 1n

4058596989. for

4058596990. mnto

Question Number : 16 Question Id : 4058592123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks:

The poet the beauty of the courtesan with his lyrical melodies.

Options :

4058596991, disparaged

4058596992, extolled



4058596993, condemned

4058596994, scorned

Question Number : 16 Question Id : 4058592123 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks:

The poet the beauty of the courtesan with his lyrical melodies.

Options :

4058596991, disparaged

4058596992, extolled

4058596993. condemmned

4058596994, scorned

Question Number : 17 Question Id : 4058592124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks:

The bandits the traveller of his wallet, watch and him
grievously.

Options :

4058596995, stole. mjured



4058596996, snatched. hurt

4058596997, robbed. wounded

4058596998, hit. killed

Question Number : 17 Question Id : 4058592124 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blanks:

The bandits the traveller of his wallet, watch and him
grievously.

Options:

4058596995, stole. mjured

4058596996, snatched. hurt

4058596997, robbed. wounded

4058596998, hit. killed

Question Number : 18 Question Id : 4058592125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Spot the error in the given sentence :

The king was perturbed to found evidence against his own queen.

A B 6 D
Options :

4058596999. A

4058597000. B

4058597001. C

4058597002. D

Question Number : 18 Question Id : 4058592125 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Spot the error in the given sentence :

The king was perturbed to found evidence against his own queen.

A B c D

Options:

4058596999. A

4058597000. B

4058597001. C

4058597002. D

Question Number : 19 Question Id : 4058592126 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:
Options :
4058597003. COMMITED

4058597004, COMMITTED

4058597005. COMITTEED

4058597006. COMMITTEED

Question Number : 19 Question Id : 4058592126 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:
Options :

4058597003. COMMITED
4058597004. COMMITTED

4058597005. COMITTEED

4058597006. COMMITTEED

Question Number : 20 Question Id : 4058592127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:
Options :

4058597007. SUPERFLUOTS

4058597008. SUPERSILIOUS

4058597009. PROFESIONALISM

4058597010. PROGISTERONE

Question Number : 20 Question Id : 4058592127 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:
Options:

4058597007. SUPERFLUOUS

4058597008. SUPERSILIOUS

4058597009. PROFESIONALISM

4058597010. PROGISTERONE

Question Number : 21 Question Id : 4058592128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:



Options :

4058597011. MERITRICIOUS

4058597012. PROFFER

4058597013. HARRASS

4058597014. DUTYFUL

Question Number : 21 Question Id : 4058592128 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct spelling:
Options :

4058597011. MERITRICIOUS

4058597012. PROFFER

4058597013. HARRASS

4058597014. DUTYFUL

Question Number : 22 Question Id : 4058592129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word -

There was an air of casy about him.

Options :



4058597015. assaurance

4058597016. assurance

4058597017. asurance

4058597018. asurrance

Question Number : 22 Question Id : 4058592129 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Fill in the blank with the correct word -

There was an air of casy about him.
Options :

4058597015. azzaurance

4058597016. assurance

4058597017. asurance

4058597018. asurrance

Question Number : 23 Question Id : 4058592130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into indirect speech -

He said. "Need I send an e-mail?

Options :



4058597019. He asked me if he had to send an e-maail.

4058597020. He asked me if I need send an e-mail.

4058597021. He asked me that I need send an e-mail.

4058597022. He azked me if he nead to send an e-mail.

Question Number : 23 Question Id : 4058592130 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into indirect speech -

He said., "Need [ send an e-mail?"

Options :

4058597019. He asked me if he had to send an e-maal.

4058597020. He asked me if I need send an e-mail.

4058597021. He asked me that I need send an e-mail.

4058597022. He asked me if he need to send an e-mail.

Question Number : 24 Question Id : 4058592131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into indirect speech -

The teacher said to the student, "Why were you absent yesterday?"



Options :

4058597023, The teacher asked the student why had been he absent the previous day.

4058597024, The teacher asked the student why he had been absent the previous day.

4058597025, The teacher informed the student that why he had been absent the next day.

4058597026, Lhe teacher asked the student why had he been absent the previous day.

Question Number : 24 Question Id : 4058592131 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Change into indirect speech -

The teacher said to the student, "Why were you absent yesterday?”
Options:

4058597023, The teacher asked the student why had been he absent the previous day.

4058597024, The teacher asked the student why he had been absent the previous day.

4058597025, The teacher informed the student that why he had been absent the next day.

4058597026, Lhe teacher asked the student why had he been absent the previous day.

Question Number : 25 Question Id : 4058592132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Change into indirect speech -

"Many happy returns of your birthday", we said.
Options :

4058597027, We greeted him on his birthday.

4058597028, We said that many happy returns of your birthday.

4058597029, We prayed for many happy returns of the day.

4058597030, We wished him many happy returns of his birthday.

Question Number : 25 Question Id : 4058592132 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into indirect speech -

"Many happy returns of your birthday". we said.

Options :

4058597027, We greeted him on his birthday.

4058597028, We said that many happy returns of your birthday.

4058597029, We prayed for many happy returns of the day.

4058597030, We wished him many happy returns of his birthday.

Question Number : 26 Question Id : 4058592133 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Active voice -

Let the police be called at once.
Options :

4058597031, Once call the police.

4058597032, Call the police at once.

4058597033, Call the police.

4058597034, Call once the police.

Question Number : 26 Question Id : 4058592133 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Active voice -

Let the police be called at once.
Options :

4058597031, Once call the police.

4058597032, Call the police at once.

4058597033, Call the police.

4058597034, Call once the police.



Question Number : 27 Question Id : 4058592134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Active voice -

By whom was it painted?

Options :

4058597035, Who painted 1t?

4058597036. Who pﬂiﬂt 1t?

4058597037, Who had painted it?

4058597038, Who has pamted 1t?

Question Number : 27 Question Id : 4058592134 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Active voice -
By whom was it painted?
Options :

4058597035, Who painted 1t?

4058597036, Who paint 1t?

4058597037, Who had painted it?

4058597038, Who has pamted 1t?



Question Number : 28 Question Id : 4058592135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Active voice -

We were told about the new project by the M.D.
Options:

4058597039, The MD was telling us the new project.

4058597040, The MD had told us about the new project.

4058597041, The MD has told us about the new project.

4058597042, The MD told us about the new project.

Question Number : 28 Question Id : 4058592135 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Change into Active voice -

We were told about the new project by the M.D.
Options :
4058597039, The MD was telling us the new project.

4058597040, The MD had told us about the new project.

4058597041, The MD has told us about the new project.



4058597042, The MD told us about the new project.

Question Number : 29 Question Id : 4058592136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression :

Rita 1s really up in the creck without her family members.

Options :

4058597043, Shy and modest

4058597044, bold and rowdy

4058597045. forced to do hard labor

4058597046. in serious difficulties

Question Number : 29 Question Id : 4058592136 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option for the following idiomatic expression :

Rita 1s really up in the creck without her family members.

Options :

4058597043, Shy and modest

4058597044, bold and rowdy

4058597045. forced to do hard labor



4058597046. in serious difficulties

Question Number : 30 Question Id : 4058592137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option from the following:
'To gild the pill"
Options :

4058597047. to revive matters

4058597048. to have no effect

4058597049, to cover an unpleasant thing by a pleasant one

4058597050, to behave cowardly

Question Number : 30 Question Id : 4058592137 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the most appropriate option from the following:

'To gild the pill"
Options :

4058597047. to revive matters

4058597048. to have no effect



4058597049, to cover an unpleasant thing by a pleasant one

4058597050, to behave cowardly

Question Number : 31 Question Id : 4058592138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option for the following:

'To give chapter and verse for a thing'

Options :

4058597051 . to succeed slowly

4058597052, to submit proof

4058597053. to tarnish

4058597054, to give a good show

Question Number : 31 Question Id : 4058592138 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the correct option for the following:

'To give chapter and verse for a thing’

Options:

4058597051 . to succeed slowly



4058597052, to submit proof

4058597053. to tarnish

4058597054, to give a good show

Question Number : 32 Question Id : 4058592139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word:

"REPOSE"
Options :

4058597055. LYCEUM

4058597056. SCION

4058597057. MOTION

4058597058. REPERTORY

Question Number : 32 Question Id : 4058592139 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose the word opposite in meaning to the given word:

"REPOSE"
Options :

4058597055. LYCEUM



4058597056. SCION

4058597057. MOTION

4058597058. REPERTORY

Question Number : 33 Question Id : 4058592140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four words are given of which two words are most
nearly the same or opposite in meanings. Find the correct option showing the
correct letter combination.

A. Mitigate
B. Acquiesce
C. Relinquish
D. Duplicate

Options:

4058597059. A-C

4058597060. B-C

4058597061. A-B

4058597062. C-D

Question Number : 33 Question Id : 4058592140 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



In the following question. four words are given of which two words are most
nearly the same or opposite in meanings. Find the correct option showing the
correct letter combination.

A. Mitigate
B. Acquiesce
C. Relinquish
D. Duplicate

Options:

4058597059. A-C

4058597060. B-C

4058597061. A-B

4058597062. C-D

Question Number : 34 Question Id : 4058592141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In the following question, four words are given of which two words are most
nearly the same or opposite in meanings. Find the correct option showing the
correct letter combination.

A. Vivacious
B. Weurd

C. Rabid
D. Fanatical

Options:
4058597063. A-B
4058597064. B-C

4058597065. B-D

4058597066. C-D



Question Number : 34 Question Id : 4058592141 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In the following question. four words are given of which two words are most
nearly the same or opposite in meanings. Find the correct option showing the
correct letter combination.

A. Vivacious
B. Weird
C. Rabid
D. Fanatical

Options :

4058597063. A-B

4058597064. B-C

4058597065. B-D

4058597066. C-D

Question Number : 35 Question Id : 4058592142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Of the given alternatives, select the one which 1s most nearly the same in meaning
to the word which is underlined -

"Dr. S. Radhakrishnan has written an erudite commentary on the Bhagwad Gita."

Options :

4058597067 scholarly



4058597068, Inspiring

4058597069. etfective

4058597070, perfect

Question Number : 35 Question Id : 4058592142 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Of the given alternatives, select the one which 1s most nearly the same in meaning
to the word which 1s underlined -

"Dr. S. Radhakrishnan has written an erudite commentary on the Bhagwad Gita."

Options:

4058597067, scholarly

4058597068, Inspiring

4058597069. effective

4058597070, perfect

Question Number : 36 Question Id : 4058592143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Of the given alternatives, select the one which 1s most nearly the same in meaning
to the underlined word:

"The base of Indian politicians 1s the group of sycophants around them who earn
bad name for the leaders".



Options :

4058597071. critics

4058597072. tlatterers

4058597073, foppish

4058597074, Jargon

Question Number : 36 Question Id : 4058592143 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Of the given alternatives, select the one which 1s most nearly the same in meaning
to the underlined word:

"The base of Indian politicians 1s the group of sycophants around them who eamn
bad name for the leaders”.

Options :

4058597071. critics

4058597072. flatterers

4058597073 foppish

4058597074, Jargon

Question Number : 37 Question Id : 4058592144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Of the four alternatives, choose the one which best expresses the meaning of the
given word:

"Accoutrements"

Options:

4058597075. relatives

4058597076, Companions

4058597077. calculations

4058597078, Squipments

Question Number : 37 Question Id : 4058592144 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Of the four alternatives, choose the one which best expresses the meaning of the
given word:

"Accoutrements"

Options:

4058597075. relatives

4058597076, Sompanions

4058597077. calculations

4058597078, Squipments

Question Number : 38 Question Id : 4058592145 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

Allowance paid to wife on legal separation.

Options :

4058597079, alimony

4058597080, dowry

4058597081, pension

4058597082, gratuity

Question Number : 38 Question Id : 4058592145 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

Allowance paid to wife on legal separation.
Options :

4058597079, alimony

4058597080, dowry

4058597081, pension

4058597082, gratuity



Question Number : 39 Question Id : 4058592146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

A rearrangement of a group of letters. especially a word that can be formed by
rearranging the letters in another word.

Options :

4058597083, acTomyill

4058597084, acrostic

4058597085, anadiplosis

4058597086, #nagraill

Question Number : 39 Question Id : 4058592146 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression :

A rearrangement of a group of letters. especially a word that can be formed by
rearranging the letters in another word.

Options:

4058597083, acromyill

4058597084, acrostic

4058597085, anadiplosis

4058597086. anagram



Question Number : 40 Question Id : 4058592147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression -

Inability to read. usually caused by brain lesions: word blindness.

Options :

4058597087. dyscalculia

4058597088. alexia

4058597089, ambigraphia

4058597090, dysgraphia

Question Number : 40 Question Id : 4058592147 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the given expression -
Inability to read. usually caused by brain lesions: word blindness.
Options:

4058597087, dyscalculia

4058597088. alexia

4058597089, ambigraphia



4058597090. dysgraphia

A-Quantitative Ability

Section Id : 405859120
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Section type : Online
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Number of Questions : 20
Number of Questions to be attempted : 20
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Maximum Instruction Time : 0
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Sub-Section Id : 405859148
Question Shuffling Allowed : Yes
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Question Number : 41 Question Id : 4058592148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The average of 11 consecutive odd numbers 1s 15. What 1s the sum of the second
and the tenth number?

Options :

4058597091. 12

4058597092. 24



4058597093. 26

4058597094. 30

Question Number : 41 Question Id : 4058592148 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

11 HATA [aYH S-A13]] &1 S 15 §1 G-I 0UT 8| 901 BT IR &1 52
Options:

4058597091. 12
4058597092. 24
4058597093. 26

4058597094. 30

Question Number : 42 Question Id : 4058592149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The average weight of a group of five friends 1s 52 kg. Another friend joined the
group and the average weight of the group icreased by 1.5 kg. What 1s the weight
of the new member of the group?

Options :

4058597095, 37 kg

4058597096, 38 kg



4058597097, 60 kg

4058597098, 61 kg

Question Number : 42 Question Id : 4058592149 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

tid il & Ue 995 &1 3id aoi 52 foad g1 U@ o i 9 4 Isdi s
Sﬁiﬂgﬁ'ﬁéﬁﬁﬁaﬁ? 1.5 [PaIumm 95 Si1dl & | T4 & U Yaw &l go
fepa 82

Options :

7 faoenm

L

4058597095.

4058597096, 58 T& ¥

4058597097. 60 f&¥

4058597098, 61 f&¥

Question Number : 43 Question Id : 4058592150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Cost price of an article for a shopkeeper 1s Rs. 3000. Shopkeeper marked 1t for Rs.
4000. He allows some discount on the marked price and still gaing 20%. The
percentage of discount given to the customer. 1s :

Options:

4058597099. 8%



4058597100. 9%
4058597101. 10%

4058597102. 12%

Question Number : 43 Question Id : 4058592150 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U% GPMER & [0 U a 1 AFTd Hed 2 3000 § 1 §PMER - 39 UR Z 4000
e sifdrd favar| a8 3ifdrd et R $@ B¢ dl § SR R 17 20% P11
T Rl & | TSP Dl &l 715 B DI WIa=Id o

Options:

4058597099. 8%

4058597100. 9%

4058597101. 10%

4058597102. 12%

Question Number : 44 Question Id : 4058592151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The average of five numbers is 21. If one number is excluded. their average is 19.
What 1s the excluded number?

Options :

4058597103. 27



4058597104. 29

4058597105. 31

I
i

4058597106.

Question Number : 44 Question Id : 4058592151 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Uig Seeadi @1 3fgd 21 § | afe Ue T el 21 We df 3-dT 3i9d 10 §f ordl
S| §eTs 1T 9% 1 82

Options :

4058597103. 27

4058597104. 29

4058597105. 31

| R
i

4058597106.

Question Number : 45 Question Id : 4058592152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
1f 0.006 + K=0.02, then value of K. 1s :

Options :

4058597107. 0.0003

4058597108. 0.003



4058597109. 0.03

4058597110. 0.3

Question Number : 45 Question Id : 4058592152 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

a1 0.006 + K=0.02, I K &1 0 &

Options :

4058597107. 0.0003
4058597108. 0.003
4058597109. 0.03

4058597110. 0.3

Question Number : 46 Question Id : 4058592153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

2 8 s
The HC.F. of =, —, Emv:i 62 18:
327 9 21

Options :

62
4058597111. 3



4058597112, 62
4058597113, 2

4058597114. 81

Question Number : 46 Question Id : 4058592153 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

e o 10 B fl &1 HETH GHIAAD &

3727 6

Options:

4058597111, 3

4058597112, 62
4058597113, 2

4058597114. 81

Question Number : 47 Question Id : 4058592154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



In an alloy. the ratio of copper and zine 1s 5:2. If 3.75 kg of zine 1s mixed in 52 kg
500g of alloy. then the ratio of copper and zine in the alloy will be:

Options :

4058597115. 1:2
4058597116. 2:3
4058597117. 3:2

4058597118. 2:1

Question Number : 47 Question Id : 4058592154 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

foneit fErsyee o el T ST &1 SIUId 5:2 51 AfS 3.75 kg O 1 52 kg 500
frsreng o fiyaman o, 1 59 fayeng J did JuT S &1 31d g1

Options:

1]

[ )

4058597115. 1:

4058597116. 2:3

[ ]

4058597117. 3:

4058597118. 2:1

Question Number : 48 Question Id : 4058592155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Find the value of x 1n 60.06 + 0.3 = xx0.05



Options :

4058597119. 400.4

4058597120. 4004

4058597121, 200.4

4058597122, 2004

Question Number : 48 Question Id : 4058592155 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

60.06 + 0.3 =xx0.05 H x DT HH J1d DT

Options :

4058597119. 400.4

4058597120. 4004

4058597121. 200.4

4058597122, 2004

Question Number : 49 Question Id : 4058592156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A. B and C in a partnership mvested  52.000,  56.000 and Z 70.000, respectively.
At the end of the year. B received T 12,250 less than C as his share in the profit.
What 1s the total profit?



Options :

4058597123, T 1.52.750
4058597124, T 1.55.500
4058597125, T 1.55.750

4058597126. % 1.62.000

Question Number : 49 Question Id : 4058592156 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A. B 3R ¢ 9151 & HH: 7 52.000.  56.000 3 2 70.000 BT HATHId ¢ | a9
B AT Y S FUH B DI C D g8 I 712250 $H UK gldl o | Pa a1y
famT 82

Options :

4058597123. T 1.52.750

4058597124, ¥ 1.55.500

4058597125, T 1.55.750

4058597126, < 1.62.000

Question Number : 50 Question Id : 4058592157 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



In a certain journey. a man covered one-third of the total distance on bicycle at the
speed of 20 km'h, one-fourth on bike at the speed of 30 kin'h and remaing distance
at the speed of 50 km/h with car. What 1s his average speed during the entire
journey?

Options :

4058597127. 30 kin'h
4058597128. 40 km'h
4058597129. 50 km'h

4058597130. 60 km'h

Question Number : 50 Question Id : 4058592157 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

U HIqTy U1 H, U odfed = Frgichat U 20 fpil/Huer @1 fd I oot gl o
U@ fdgTs W1 o, U 91UTs, 531 &1 Hiez-Algidd 4 30 fegver o 1fd 9
R TN g1 BT BR Y 50 [t Hver S i 9 9= foar| o g & 39! ™y
Tid T 8?

Options :
4058597127. 30 fpHIHUCT
4058597128, 40 [ HIHUCT

4058597129, 50 fpHI/IUeT

4058597130. 60 fapHIgUeT

Question Number : 51 Question Id : 4058592158 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The sum of the salaries of A and B 15 T 81.000. A spends 80% of his salary and B
spends 70% of his salary. If their savings are in the ratio 4:3. then what 1s the
salary of B?

Options:

4058597131. < 25.400
4058597132, T 27,000
4058597133, ¥ 26.500
4058597134, < 54,000
Question Number : 51 Question Id : 4058592158 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A 3R B & da-l &1 D I 2 81.000 3| A 3T I BT 80% AUT B 3 daH
BT 70% @ Pl ¢ | (G 3D §9d 4:3 B 3HUId H 1. dl B BT da fbal g2

Options:
4058597131, T 25.400
4058597132, T 27.000

4058597133. T 26.500

4058597134, < 54.000



Question Number : 52 Question Id : 4058592159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In an organization, 40% employees are matriculates. 50% of the rest are graduates
and the remaiming 225 are post-graduates. What 1s the number of matriculate
employees?

Options:

4058597135, 225
4058597136. 280
4058597137. 300

4058597138. 320

Question Number : 52 Question Id : 4058592159 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

fep il HTaH H 40% PHARI AfCH-UR, I9 & 50% HIdP qUl < §U 225
FABRR & | AfeH-Ury SHH=ngl &1 @e fha-i 82

Options :

4058597135, 225

4058597136. 280

4058597137. 300

4058597138. 320



Question Number : 53 Question Id : 4058592160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The average expenditure of a person for the first five months of a year 15 7 50.000
and for the next seven months it 1s ¥ 54,000. He saved  23.000 during the year.
His average monthly income is:

Options:

4058597139, T 55,000

4058597140. T 34.250

4058597141, % 54.460

4058597142, < 56.000

Question Number : 53 Question Id : 4058592160 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

fep it o T U a o Ygel Uid HeiH ®T 31¥d o9 2 50,000 B 3R 3ATCl WA
el &7 2 54.000 51 3T Afad 3 a8 & 2 23.000 B! 99d I | ITDT 3Agd
oi¥® 3 :

Options :
4058597139. T 55.000
4058597140. T 54.250

4058597141, < 54.460

4058597142, T 56.000



Question Number : 54 Question Id : 4058592161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A vessel 1s filled with liquid. 3 parts of which 1s water and 5 parts syrup. What part
of the mixture should be drawn off and replaced with water so that the mixture
contains half water and half syrup?

Options :

4058597143. 4

h | —

4058597144.

4058597145, 6

4058597146. 7

Question Number : 54 Question Id : 4058592161 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

TS §c- § 59 4R &, forgest i 4T ot Ut s YT dR9 81 59 fagur &
a1 o= M &= 39D oiTe 9! STaTl ol dlfds H07 &7 ST8T 1T 9]
T ST YT AR 817

Options :

I
4058597143. 4

4058597144.



| —

1
4058597145, 6

1
4058597146. 7

Question Number : 55 Question Id : 4058592162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A and B are partners in a business. A invested  42.000 for 10 months and B
invested T 35.000 for 8§ months. Out of a profit of T 31.570, B's share 1s

Options :

4058597147, T 12.648
4058597148. T 12.682
4058597149, T 12.684

4058597150. T 12.628

Question Number : 55 Question Id : 4058592162 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

AJYTB TS YR H ARISR o1 AT 10 HeIHI & 70 7 42.000 &1 fAawy fasar
Hwagaﬂ%ﬁﬁ%ﬁmz 35.000 1 a9 fHaI 2 31.570 FATH H U B Fl
e g -



Options :

4058597147, < 12.648
4058597148, T 12.682
4058597149, < 12.684

4058597150. T 12.628

Question Number : 56 Question Id : 4058592163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

After getting two successive discounts of 12.5% and x%. an item with marked
price T 750 1s available at T 525. Find the value of x :

Options :

4058597151. 16
4058597152, 18
4058597153, 20

4058597154, 212

Question Number : 56 Question Id : 4058592163 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

12.5% 3R x% P al piled §ci B U o UYId 2 750 Sifcba Teg aTel] %]
25 T IUT | x BT T J1d DIToIL:




Options :

4058597151. 16

4058597152. 18

| R
=

4058597153.

4058597154. 21

Question Number : 57 Question Id : 4058592164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Two numbers A and B are less than a third number C by 15% and 32%
respectively. By what percent (%) 1s number B less than the number A?

Options :

4058597155. 32

4058597156. 26

4058597157. 17

4058597158. 20

Question Number : 57 Question Id : 4058592164 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Em@:rﬂzaah?B TR T3 ¢ W HHD: 15% 3R 32% A G| J1d B2 1D
T B, A T ford- wfa=a &9 52




Options :

4058597155. 32

4058597156. 26

4058597157. 17

4058597158. 20

Question Number : 58 Question Id : 4058592165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

B can do a work in 48 days. If A starts the work and after 10 days he left. then B
alone finishes the remaining work 1n 42 days. In how many days A and B. together
will finish the work?

Options :

4058597159. 30

| R}
i

4058597160.

4058597161. 35

4058597162. 28

Question Number : 58 Question Id : 4058592165 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



B U B B 48 &1 T B obdll 61 Al A TE DU YL PRadl 6 AR 10131
TE DS edlcdl HPAB I TI DH DI 42 B H W IRAT S| A AR B TD
1Y 39 D1 ol e & QR an

Options :

4058597159. 30

I
i

4058597160.

i

4058597161. 3

| R}
s

4058597162.

Question Number : 59 Question Id : 4058592166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A sells an item at a loss of 10%. If he had sold it for ¥ 120 more. he would have
gamed 5%. What 1s the cost price of the item?

Options:

4058597163. 680

4058597164, 2 72

4058597165. % 800

4058597166. 850

Question Number : 59 Question Id : 4058592166 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



A, T3t 9% 31 fa g 10% B W IR 51 3fE 98 39 2 120 3PP @ W
dTar dl 5% a1y U Hxal| 9% P aFTd e o1 57

Options :

4058597163. 680
4058597164. 72
4058597165. 800

4058597166. 8§50

Question Number : 60 Question Id : 4058592167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

3 .
If 10F = |],~;x(](m1{} 4) ; (ijm ”).thenﬂle value of k 15 :

Options:

| )

4058597167.

4058597168. 1

4058597169. 0

4058597170. -1

Question Number : 60 Question Id : 4058592167 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



gfg ok = l:."ix(]fw:l{]' ”‘_]'t : (ﬂ’”xm ”).?ﬁkfﬁfﬂﬁ%

Options :

| )

4058597167.

4058597168. 1

4058597169. 0

4058597170. -1

A-Analytical & Logical Ability

SectionId:

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time:
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

Question Number : 61 Question Id : 4058592168 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

405859121
3

Online
Mandatory
15

15

15

Yes

0

1
405859149
Yes

null



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In the following letter series. some of the letters are missing which are given in
that order as one of the alternatives . Choose the correct alternative:

a_bedd ab ccda b cda
Options :

4058597171. abeda
4058597172. adcba
4058597173. abedd

4058597174, adebb

Question Number : 61 Question Id : 4058592168 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

quit & FaAfRad Lae & 9 a0l g 5. 9% I (4T Y fawedl § 3 fard
TS & %A 1 501 T4 8| J51 [Aded &1 904 Sivig:

a_bedd ab ceda b cda.
Options:

4058597171. abeda
4058597172. adcba

4058597173. abedd

4058597174. adcbb



Question Number : 62 Question Id : 4058592169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Find the missing term in the following letter series :

ANGV, WICR. SFYN__ ?
Options :

4058597175, QBVI
4058597176. OAUK
4058597177. OBUJ

4058597178. PCVK

Question Number : 62 Question Id : 4058592169 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25

frafaRad aul g d 9w g J1d i

ANGV, WICR, SFYN ?

Options :

4058597175, QBVI

4058597176. OAUK

4058597177. OBUI

4058597178. PCVK



Question Number : 63 Question Id : 4058592170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following number series :

3.8.12, 16, 48, 38, 192, 64
Options :

4058597179. 64
4058597180. 48
4058597181. 38

4058597182, 192

Question Number : 63 Question Id : 4058592170 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

frafeiad S J@an § 1ad ug &1 J1d S

3, 8,12, 16, 48, 38, 192, 64

Options :

4058597179. 64

4058597180. 48

4058597181. 38

4058597182, 192



Question Number : 64 Question Id : 4058592171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language 'nik mik sik' means T am beautiful'. 'mik rik' means
'beautiful painting' and 'rik sik tik' means T love painting'. Then how will you write
'beautitul love' in the same language?

Options :

4058597183. mik nik
4058597184, tik sik
4058597185, mik tik

4058597186. rik tik

Question Number : 64 Question Id : 4058592171 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

UP YA P U H 'nik mik sik BT 3 € Tam beautiful, 'mik rik' BT 3
'beautiful pamnting’ 31 'rik sik tik' T 3 8 T love painting’ 39 3G e g
beautiful love' B Iy feG?

Options :
4058597183. mik nik
4058597184, tik sik

4058597185, mik tik

4058597186. rik tik



Question Number : 65 Question Id : 4058592172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If "BEAUTIFUL" 1s coded as 'D215V3H5N' n a certain code language. then how
will you write "UNIVERSAL" in the same code language?

Options :

4058597187. 5P3Y2UTIM
4058597188. 5SP3X2UTIM
4058597189. 5SP3XIUTIN

4058597190. SP3X2TUIN

Question Number : 65 Question Id : 4058592172 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

gf¢ "BEAUTIFUL" @I f&dl fA1Ed e I HD215V3HSN & &9 § $eag
faaT 711 § <1 317 331 e YT § "UNIVERSAL" B! [ U R ferdil?

Options :

4058597187. 5P3YIUTIM

4058597188. SP3X2IUTIM

4058597189. 5P3X2UTIN

4058597190. 5P3X2TUIN



Question Number : 66 Question Id : 4058592173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Vinay walks 7 km southward. then turns left and walks 5 km. then turns right and
walks 2 km. Finally he turns right and walks 5 km. How far i1z Vinay from his
starting point?

Options :

4058597191. 19 km
4058597192. 12 km
4058597193. 10 km

4058597194, 9 km

Question Number : 66 Question Id : 4058592173 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

fa=1g gfarmn fg=n 1 ik 7 foo . e 6. R 9l Sl 4s Sl § iR 5 fob o,
SITdl 5. R Gt 3IR TS e 2 o . Sl 81 efiat: 98 ardl SiR S 5
fop =it ST 81 fa g o 3RS fo=g 9 fa-i 3R 82

Options :

4058597191, 19 fa7HT

4058597192. 12 TaHT

4058597193, 10 TaHT



4058597194, 9 TaHT

Question Number : 67 Question Id : 4058592174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A square field ABCD of side 90 m has its diagonal AC from North to South and
corner B 1s to the East of D. Person X' crosses the field diagonally starting from
corner D. After walking half the distance. he turns right. walks some distance and
turns left. Which direction 1s X facing now?

Options:

4058597195, South
4058597196. North
4058597197, West

4058597198. East

Question Number : 67 Question Id : 4058592174 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

00 Hl. YSTATd Ud THR &7 &1 fadH0l Ac IR T Sf&0 BT AR § 3R BB,
D S Jd H &1 DI D A YR TR i X' [qhuic: & UR HRar 5| el i
T PR A & 915 9 gl 3R IS O1dl 5. $ G2 oIl & SR a1l 3R I3 oIl
81X g gen®l iR I E

Options :

4058597195, GI&ITT



4058597196. 31X

4058597197, UI&H

4058597198. E{;cf

Question Number : 68 Question Id : 4058592175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A clock 1s placed such that at 12 noon its hour hand points towards North-East. In
which direction does its minute hand pomt at 3.45 p.m.?

Options :

4058597199. North-West
4058597200. East
4058597201, West

4058597202. South-East

Question Number : 68 Question Id : 4058592175 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Pig 4IOR US! 39 UDR 111 g5 © 1o 12 T QI9eR § 5HD 9U¢ Bl g Iok-4d
P SR Haod PRl 5l 3.45 Tol SHURTG DI 5D [HIC B g [ G201 B 3R
Gohd BT

Options :

4058597199, JTR-GI4H



4058597200. qﬁ

4058597201, TI&H

4058597202, SI&U-Td

Question Number : 69 Question Id : 4058592176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A cube 1s coloured blue from three adjacent faces and yellow from other three
faces and then cut mto 729 smaller cubes of equal size. How many cubes have
only one face coloured yellow and other faces uncoloured?

Options:

4058597203. 49
4058597204. 196
4058597205. 147

4058597206. 294

Question Number : 69 Question Id : 4058592176 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U U4 & di- S Bad| Df Aid W H TUT 3= dlH Badi Bl Uid J1H T
STl & 1 fihR Y aRIER PR & 720 BIC U1 § BIel §irdl & | fdva 9+l &1 U
A Il 3T 8 Tl 30 Had JTeH 82




Options :

4058597203. 49

4058597204. 196

4058597205. 147

4058597206. 294

Question Number : 70 Question Id : 4058592177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A cube of 7 em sides 18 painted black from all the side and then cut into 1 cm sides
small indentical cubes. How many cubes have the three faces painted?

Options :

4058597207. 4

4058597208. &

4058597209. 49

4058597210. 72

Question Number : 70 Question Id : 4058592177 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

7 QHI Baeh g U U 1 T 3R P1el 37 3 901 711 § 3R oo 1 e,
Had did IEE9 41 8 SreT a1 8 | fohd vl & o9 Ba® S gl




Options :

4058597207. 4

4058597208. &

4058597209. 49

4058597210. 72

Question Number : 71 Question Id : 4058592178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

By applying which of the following meanings of letters. will the expression 8 R §
P8S8Q8=57be true?

Options :

4058597211, P means =, Q means —, R means —. S means +

4058597212, P means —, Q means %, R means +, S means —

4058597213, P means +, Q means —, R means =, S means ~

4058597214, P means — Q means *, R means ~, S means +

Question Number : 71 Question Id : 4058592178 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

FafaRad ol & Sl 1 9 [ Wi & GRI TI@ SRSP8S8 Q8 =57
O Bl ST



Options :

4058597211, P 1 312 x, Q BT 31 — R FT 32 +, s BT 22 + B

4058597212 P ®1 312 +. Q &1 31f « R BT 31tf +. S BT 3 - B

4058597213, P 1 312 +, Q 1 31f — R FT 31ef «, s &7 3 + B

4058597214, P T 312 — Q &1 3 <, R &1 32 +, s BT o2 + B

Question Number : 72 Question Id : 4058592179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A statement 1s followed by two conclusions numbered I and II. Assume everything
in the statement to be true, consider the two conclusions and decide which of them
logically follow(s) beyond a reasonable doubt from the information given in the
statement.

Statement : According to a study, in the third world countries, more emphasis
should be given on hygiene and nutritious food to young children.

Conclusions : (I) Most young children do not get nutritious food in the third world
countries.

(IT) Unhygienic conditions are prevalent in these countries.
Options :
4058597215, It both I and IT follow.

4058597216. If either I or II follows.

4058597217, If only conclusion (I) follows.

4058597218, If only conclusion (II) follows.



Question Number : 72 Question Id : 4058592179 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

US B & yId &l ey 1 SR 11 fAU T § | T Sfoi fob o= © 1 11 9t
91d 9 §. g1 fApsl )R Ue 91y fgar &3 3R fAvfg a3 f g H & g
o1 9 390 U D19 eI &4 4 Hog U R [Hoaar gl

HUF : R fa%y & 3201 7. U 307 & SUR, BIC g1 § Weg 3R UIvs
HIER R {4 g &1 1R

fspy . (1) TR foy & 9 § i B 9=8] & UINe 3MeR ol Mddl o

(IT) 31 31T & SRaTRI R <21 oI o
Options:

4058597215, A& M1 3R 11 FHeperd |

4058597216, TI& ATAI 1 AT 11 FHepadl B

4058597217, A< Fad [Py 1 Fead gl

4058597218, U1 Had Py 11 HPedl g

Question Number : 73 Question Id : 4058592180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



In the following question, examine the given statements carefully and find out
which two of the statements can not be true simultaneously. but can both be false.

(1) All children are mquisitive.
(1) Some children are inquisitive.
(111) No children are mquisitive.

(1v) Some children are not inquisitive.

Options :

4058597219, (1) and (iii)

4058597220, (1) and (iv)

4058597221, (11) and (111)

4058597222, (1i1) and (1v)

Question Number : 73 Question Id : 4058592180 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

FafeRad vy 3§ 3T 70 Su=| &1 ATYa® URIE0T SIfog 3R J1d PIfed fb
B Y & HYF U 1Y I o 81 9 & U aHl S8 6l 9hd g |

() IR T S B B |
(i) PO o= SR 814 81
(ifi) P T Forgmg T8 B B
(iv) DS g=d foTgrg el 81 &

Options:

4058597219.&)3ﬁ?{ﬁﬂ

4058597220 (1) 3T (iv)



4058597221 (if) 371 (iii)

4058597222, (iii) SR (iv)

Question Number : 74 Question Id : 4058592181 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Given below are two statements labelled as Assertion (A) and Reason (R). Choose
the correct option as per the codes provided below:

Assertion (A) : India 1s a democratic country.

Reason (R) : India has its own Constitution.
Options:

4058597223, (A) 1s true but (R) 1s false.

4058597224, (A) 1s false but (R) 1s true.

4058597225, Both (A) and (R) are true but (R) is not the correct explanation of (A).

4058597226, Both (A) and (R) are true and (R) 1s the correct explanation of (A).

Question Number : 74 Question Id : 4058592181 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



FafaRad 3l HuUF ey (A) iR TR (R) & =0 3 3ifda g1+ [gu g
@l & IR Fel f[dhed o1 9a- H:

FBY (A) : YRA U AHAID 9 8

PR (R) : HRd T 01 Sfau g1
Options :

4058597223, (A) TET § fog (R) TaT &1

4058597224, (A) 704 & fog (R) TEI B

4058597225, (A) 3R (R) S Hel 8 forg (R) (A) P Tt RS 761 B

4058597226, (A) 3R (R) G el § 3R (R) (A) P gl URATB |

Question Number : 75 Question Id : 4058592182 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

How many odd numbers are there in the sequence each of which i1s immediately
tollowed by an odd number?

53471965346937641652443694.
Options :

4058597227. 4

4058597228. &

i

4058597229.

4058597230. 3



Question Number : 75 Question Id : 4058592182 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

siEel ¥ -l Ut fawn Seant § [ Heead SoRadl U fayd 931 82

53471965346937641652443694.
Options :

4058597227. 4

4058597228. 6

L

4058597229.

4058597230. 3

A-General Knowledge and Current Affairs

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

405859122
4

Online
Mandatory
25

25

25

Yes

0
1
405859150

Yes



Is Section Default? : null

Question Number : 76 Question Id : 4058592183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Where was the Gaj Utsav-2023. inaugurated by the President of India - Smt.
Droupadi Murmu in April-2023?

Options :

4058597231, Siunlipal National Park

4058597232. Nanda Devi National Park
4058597233, Corbett National Park

4058597234, Kaziranga National Park

Question Number : 76 Question Id : 4058592183 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

UR B AP Sl S9e] 75 GRT 312023 H 7161 3d-2023 BT 3G
oyl foar T
Options :

Ryrefiar g o

4058597231.

4058597232, T Gl ST TP

ldc AP T

4058597233.



BTGRP UTeh

4058597234.

Question Number : 77 Question Id : 4058592184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Where did COP 28, held in 2023, take place?

Options :

4058597235, Dubai. UAE
4058597236. Chicago, USA
4058597237, Tokyo. Japan

4058597238, Liverpool. UK

Question Number : 77 Question Id : 4058592184 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
2023 T COP 28 el §HT U

Options :

4058597235, 39%. JU%

4058597236. BT, SEI

4058597237. ¢ T, ST



4058597238, [TARYA. ..

Question Number : 78 Question Id : 4058592185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one of the following States does NOT share border with Manipur?

Options :

4058597239, Nagaland
4058597240, Assam

4058597241. Arunachal Pradesh

4058597242, Mizoram

Question Number : 78 Question Id : 4058592185 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Frafafad ¥ 9 S19-3 I B G afiTgR & 91y T8l @il 8°

Options :

4058597239, TS

4058597240. 31H

4058597241, 32U L



4058597242, THWIRA

Question Number : 79 Question Id : 4058592186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Bhimbetka. an old site with caves and shelters. 1s located in which State of India?
Options :

4058597243, Madhya Pradesh

4058597244, Uttar Pradesh
4058597245. Andhra Pradesh

4058597246. Arunachal Pradesh

Question Number : 79 Question Id : 4058592186 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
iraed!, ToT 3R STyagad R YRd & 59 o9 I safiyd &

Options :
4058597243, TEIHGKT

4058597244, JTiX eR

4058597245, HIUHGY

4058597246.



3BUTA UeT

Question Number : 80 Question Id : 4058592187 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Match List I with List IT

LISTI LISTII
A |Thomas Macaulay [. |Serampore Mission
B. |William Jones II. |Promotion of English education
C. |Rabindranath Tagore| I1I. |Asiatic Society of Bengal
D. |William Carey IV |Abode of Peace

Choose the correct answer from the options given below:
Options :
4058597247, A-IL. B-I. C-IV, D-III

4058597248, A-IL. B-IV. C-I. D-III

4058597249, A-L. B-IV., C-III. D-II

4058597250, A-IL. B-III. C-IV. D-I

Question Number : 80 Question Id : 4058592187 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Il 1 SR Gl 11 1 gHd BIfoe:

g 1 T
A YOO | L |[dRegR AR
B. [Aftma S | 1. [l fRam &1 wmt wam
C. |RdtsTy 3R | 11 |vfmnfes gaEd
D. [Afmm &8 | 1v [s@Ers s b
- feu e fapedl & 9 Hel SR AT
Options:

4058597247 A-IL B-I. C-IV. D-III

4058597248, A-IL. B-IV, C-I. D-III

4058597249, A-L. B-IV, C-III, D-II

4058597250, A-IL. B-III. C-IV. D-I

Question Number : 81 Question Id : 4058592188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who amongst the following helped to establish the Serampore Mission?
Options :

4058597251, Warren Hastings

4058597252, William Jones

4058597253, Henry Thomas Colebrooke

4058597254, William Carey



Question Number : 81 Question Id : 4058592188 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
fFraifera & 9 fopa SRR f3H o w191 8 ggr™ar i 4

Options :

4058597251, AR &

4058597252, Taferay &=y

4058597253.a IRIEEE: NE]

4058597254, Taferam &t

Question Number : 82 Question Id : 4058592189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Sangam literature, composed around 2300 years ago. belongs to which Indian
State?

Options :

4058597255, Madhya Pradesh

4058597256. Karnataka
4058597257, Tamil Nadu

4058597258, Kerala



Question Number : 82 Question Id : 4058592189 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TWWMWW:MM@@@@HMM%%H g 3 Hafed

Options:

4058597255, H¥ UG Xl

4058597256, HACH

4058597257, HIIG

4058597258. G

Question Number : 83 Question Id : 4058592190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following Islands do NOT {fall under Amindivi group in
Lakshadweep?

A. Minicoy
B. Ammi
C. Kalpeni
D. Bitra

E. Kittan

Choose the correct answer from the options given below:

Options :

4058597259, B and C only



4058597260, 4 and D only
4058597261, € and D only

4058597262, /A and C only

Question Number : 83 Question Id : 4058592190 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

P 7 2 . 20 Taigiy & Siftdid g 3 cfavia e o &2

A, ST
B. 3l
C. HedAl
D. fad=1
E. fodH

= fSU U [ el § 9 Yol fdded &1 90+ HIToIu:

Options :

4058597259, &dd B d4T C

4058597260. Bad A AU D

4058597261, ®ad C dUTD

4058597262, HAd ATUT C

Question Number : 84 Question Id : 4058592191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Who 1s the author of the work "Him Tarangini' the first ever Sahitya Akademi
awarded book written in Hindi?

Options:

4058597263. Sumitranandan Pant
4058597264. Malchanlal Chaturved:

4058597265. Mahadevi Verma

4058597266, Wpendranath Ashq

Question Number : 84 Question Id : 4058592191 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
%ﬁgﬁmm%a 3fpIEH REPR I FHI-d J&id ToH RAHN & dED
DT ?

Options :

4058597263, JHATGA Gd

()

.
4058597264, TGl dddal

4058597265, HElad adl

4058597266, SUSATY 3IIH

Question Number : 85 Question Id : 4058592192 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Indian Standard Time (82° 30'E) is ahead of Greenwich mean time by :
Options:

4058597267. 2 hours

4058597268. 2 hours and 30 minutes

4058597269. 5 hours

4058597270. 5 hours and 30 nunutes

Question Number : 85 Question Id : 4058592192 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

WHfag O ¥ YRA™ AF$ 999 fdaT ot g2

Options :

4058597267 2 €UC

4058597268 2 T 3% 30 fiAe

4058597269. 5 HUC

4058597270. 5 T 31X 30 fie

Question Number : 86 Question Id : 4058592193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

The Barak river 1s an important river in :
Options :

4058597271. Assam

4058597272. Arunachal Pradesh

4058597273, Manipur

4058597274, Meghalaya

Question Number : 86 Question Id : 4058592193 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

edqul aR1® 4] BTl 67

Options :

4058597271. HH

4058597272, SHRUIH LRy

4058597273. TIOTER

4058597274, HUTg

Question Number : 87 Question Id : 4058592194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

Choose the country which is NOT touched by Sahara desert?

Options :

4058597275, Egypt
4058597276. Mali

4058597277. Morocco

4058597278, Kenya

Question Number : 87 Question Id : 4058592194 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
3 = T T BT fore! SiHTd GeRT B34 § 81 aldl 87

Options:

4058597275, Ty

4058597276. HIT

4058597277, HIRG®

4058597278, T

Question Number : 88 Question Id : 4058592195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Which of the following 1s not a compound?
Options:

4058597279. Ammonia

4058597280. Water

4058597281, Oxygen

4058597282, Carbon dioxide

Question Number : 88 Question Id : 4058592195 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
frgiferd o I a1 e 781 g°
Options :

4058597279, HHI4I

4058597280. Wiel

4058597281, HIgHIal

4058597282, PIa SISHFITS

Question Number : 89 Question Id : 4058592196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Diseases like Dysentery and Malaria are caused by



Options :

4058597283. Viruses
4058597284, Bacteria

4058597285. Protozoans

4058597286, Fungi

Question Number : 89 Question Id : 4058592196 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
3R 3R TaifeaT S 3 Fgifed & O fFud FIa g1 &

Options:

4058597283. q9 1

4058597284. Rk 1

4058597285, Wl oIl

4058597286. PdP

Question Number : 90 Question Id : 4058592197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The transformation of the larva into adult through drastic changes 1s called :

Options :



4058597287, A-sexual reproduction

4058597288, Vivipary

4058597289, Metamorphosis

4058597290. External fertilisation

Question Number : 90 Question Id : 4058592197 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Tal 1 U YRadd & O1HH 9 905 § TUiae0] dedldl o
Options :

4058597287, 3T Yo

4058597288, Tulld Uoldhd]

4058597289, DI

4058597290, STel 8=

Question Number : 91 Question Id : 4058592198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Match the vegetation zones of column I with the characteristics given in column IL

Column I Column IT
A |Alpine [. |5now
B. |Temperate II. |Frost 1s rare
C. |Tropical ITI. |Frost some snow
D. |Subtropical IV. |No frost
Options :

4058597291, A-IL. B-I. C-III. D-IV

4058597292, A-L. B-II. C-IV, D-III

4058597293, A-IV. B-III. C-I. D-II

4058597294, A-L. B-III. C-IV. D-II

Question Number : 91 Question Id : 4058592198 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

PIeH-1 H IeaRad aedid & &1 BlaH-11 I FHIAd S

HATI FIATII

A. |ereaEa I |[atfen

B [guefidmr |1 [quR fRasrar®

C. [®fedsd 1L |[qUR, $e 9% Usdl ¢
D. |Suimicadig |1v |His quR T8
Options :

4058597291, A-IL. B-I. C-III. D-IV

4058597292, A-I. B-II. C-IV. D-III

4058597293, A-IV. B-III. C-I. D-II



4058597294, A-L. B-III. C-IV. D-II

Question Number : 92 Question Id : 4058592199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Who 1s the father of modern digital computers?
Options :

4058597295, Howard H. Aiken

4058597296, Charles Babbage
4058597297, John-W-Mauchly

4058597298, Wilhelm Schickhard

Question Number : 92 Question Id : 4058592199 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
3y fEforea Frged & 5@ 1

Options :

Ny C - =
4058597295, &ldlS Ud. Udp

4058597296, TTE dadf

4058597297, i1 S&cy, HIHT



T [ i i

4058597298. faeed Repprs

Question Number : 93 Question Id : 4058592200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The practice of untouchability has been abolished and made a punishable crime by
which Article of the Constitution of India?

Options :

4058597299. Article 15
4058597300. Article 17
4058597301. Article 21

4058597302. Article 32

Question Number : 93 Question Id : 4058592200 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

YRA & IAYH F Y s=e & §RT RG] S WU &1 3+ fHar g
IR Y T SRy T T R2

Options :

4058597299, TG 15

4058597300, ST 17

4058597301, 199G 21



4058597302, T 32

Question Number : 94 Question Id : 4058592201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements:

According to 91%" Amendment Act of the Constitution of India:

(A) The Council of Ministers shall not exceed 15% of the total number of
members of the house of the people.

(B) The Council of Ministers shall not exceed 20% of the total number of members
of the Legislative Assembly for a State.

Which of the statements given above 1s/are correct:

Options:

4058597303. Only A is correct

4058597304, Only B 1s correct
4058597305. A and B are correct

4058597306. Neither A nor B 15 correct

Question Number : 94 Question Id : 4058592201 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



Fafeiad oyAl 9= [daR $ifg:
YRd & Fiay & 01d I=MeH fUHa0 & 3 9R -

(@) HA1 gRue & G| & T diddHl & Ho Gl & 15% H uiard o
Hferem Tl gt

(& H=A gue & el P Fa=1 [ dl e &l ol Gag =T & 20% I
3Hfere el gri |

SR U T YAl § 9 STl YT 98 B/

Options :

4058597303, 907 A B! G|

4058597304, DA B el G|

4058597305, A 3% B & Jal ol

4058597306, 1 Al A R I B Tl 5|

Question Number : 95 Question Id : 4058592202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Which one among the following subjects 1s NOT included is the "Union List"?

Options:

4058597307, Banking

4058597308, Railway
4058597309. Trade and Commerce

4058597310, Post and Telegraph



Question Number : 95 Question Id : 4058592202 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
o favdl & @ oo <u 3= F 9fifag 72 e
Options :

4058597307, ST

4058597308, ¢4

4058597309, ATIR 3 aTfUT=y

4058597310, 3P 3R AR

Question Number : 96 Question Id : 4058592203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements about power sharing:
A. Power sharing 1s the very spirit of democracy.

B. Power sharing is good because it helps to reduce the possibility of conflict
between social groups.

Choose the correct answer from the options given below:
Options :

4058597311. A is true and B iz false.

4058597312. Both A and B are true



4058597313. A 1s false and B 1s true

4058597314. Both A and B are false.

Question Number : 96 Question Id : 4058592203 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Tifed & dedR & gay & Fyfafad oy R aR i
A. Ifdd BT dcaRT Al dd Bt T

B. X ®1 §CaRT 351 § iy ST Ao THe! & §id JgY BI YU
HH S H gergdl el 8|

R e 9 ad SR 9T

Options :

4058597311, A 96! & 3R B 7Tdd &

4058597312, A 3R B &H Jal ol

4058597313, AT & 3R B el o

4058597314, A 3R B S 7T07d &

Question Number : 97 Question Id : 4058592204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



Statement A : The Food Corporation of India (FCI) purchases wheat and rice from
the farmers in states where there is surplus production.

Statement B : The farmers are paid minimum support price which is declared by
the Government every year before the sowing season.

Choose the correct answer from the options given below:
Options:

4058597315, Both statements A and B. are correct.
4058597316, Both statements A and B. are incorrect.
4058597317, Statement A is correct, B is incorrect.

4058597318, Statement A is incorrect, B 1s correct.

Question Number : 97 Question Id : 4058592204 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

B A - YR @re 7 (FCT) 34 I8l & [aH1 9 71 &R 91ad @liedl &
EREIBNECICE LI

S B : gl &1 a8 T02= Teg &1 YTa faar oiran 3 o ufday
IRHR & GRI 38 & O19E & Ygd "ifid faar S |

T feu v fad el § ¥ Ul 3R &1 99+ Hifory -

Options :

4058597315, DU A R B GHI el 5

4058597316, YT A 3R B ST Tad &

4058597317, DU A TEI T TR B 7T &



4058597318, PYUT ATIE € U] B Fel €|

Question Number : 98 Question Id : 4058592205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Consider the following statements about Flexible Exchange Rate System:

A. The Governments do not need to maintain large stocks of foreign exchange
reserves.

B. The Governments will have to intervene to take care of a deficit in the balance
of payment by use of its official reserves.

Choose the correct answer from the options given below:
Options :

4058597319. A is true and B iz false.
4058597320. Both A and B are true.
4058597321. A is false and B 1s true.

4058597322. Both A and B are false.

Question Number : 98 Question Id : 4058592205 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25



77 fafHg ) ugld & §R § FEfied $yH i) f[d9R S

A. TRDR B! faezit gaT 3RIEA Y & g5d G99 & 3@-@Ma B 3aggdd]
el giddl 51

B. DR B AT USRS RIET (iU & YaIT & gRI YTaMH & o1 J
fep it u1¢ o1 & T & fTIU §&IaY -1 8hT|

i fau U fge eyl § T 98l IR &1 994 Bifou:

Options :

4058597319. ATA § 3R B 3 &l

4058597320, A R B & 9 B |

4058597321, A 3@ & R B IA Bl

4058597322, A 3R B &l 3 & |

Question Number : 99 Question Id : 4058592206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

[dentify. which one of the following 1s wrongly matched.
Options :

4058597323, Foreign exchange - Currency or bonds of another country.

4058597324, HY'V seeds - Seeds that give large proportion of output.

Equity - Shares in the paid up capital or stock of a company whose holders are
4058597325, considered as owners with certain rights.

Gratuity - The use of taxation and government expenditure to regulate the
4058597326. economic activities.



Question Number : 99 Question Id : 4058592206 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
Frafafad ¥ 9 & H-91 gafdd 76l 6. Ugalu:

Options :

4058597323, [9aXil faTTHA - GER S & F=0= 91 T |

4058597324. HYV &l - ol o lﬂﬁﬂﬁTﬁﬁ"ﬁWwél

Ut - Tl ot & Tl A1 YT T Y QR o R Higd sdR
4058597325, P U IHD W I S B

4058597326, SUGH - BYM Ud WRBRI 97 &1 il iafaieai & fafaee 8 v

Question Number : 100 Question Id : 4058592207 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which one among the following was NOT a regulatory mechanism of the
industrial sector?

Options:

4058597327, Industrial licensing
4058597328, Private sector was allowed to operate in majority industries.

4058597329, Some goods could be produced only in small-scale industries.



4058597330, Controls on price fixation and distribution of selected industrial products.

Question Number : 100 Question Id : 4058592207 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
frgfafad 5 9 a1 SiEifie &7 o1t g yomet =8t o

Options :

e W e
4058597327, AP HRATADT]

4058597328, 989D eIl H it &= @1 Hithar a1 ydTe @l SfUeR Ul

4058597320 H aXgAl BT IeTe- Y FEM H & T S FehdT U

4058597330 10 MEURUI IR Tz 3R Taf~d sireifiie el &1 fgaru|
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B-Quantitative Ability

SectionId: 405859123
Section Number : 1

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 405859151
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 101 Question Id : 4058592208 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A certain sum of money is invested at an interest rate of 5% P.A. and a Second sum
of money which 1s twice as large as the first. 1s invested at 5.5% P.A.

The total mterest on mvestments together 1s T 1000 per year. The first sum of
money invested is

Options :

4058597331. 2 6250



4058597332, 212500
4058597333, 210500

4058597334. 211500

Question Number : 101 Question Id : 4058592208 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

TS G 4RI 5% Hicay & o376l &3 IR a1 &1 Tl 3R U gaRl
Wﬁm‘lﬁi%ﬁﬁ@aﬁﬂ:ﬁ%mmu yfday & &R WR Haw fear g
%ﬁﬁﬁ‘?{ntﬁ U 1Y $d 16l 2 1000 Wiaay g | Haw &1 Tt ugall e=Ri

Options :

4058597331. 6250

4058597332, 212500

4058597333, 210500

4058597334. 211500

Question Number : 102 Question Id : 4058592209 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

A pendulum strikes 7 times 1 4 seconds and another pendulum strikes 5 times 1n 3
seconds. If both pendulums start striking at the same time. how many clear strikes
can be listened in one minute ?

Options:



4058597335, 207
4058597336. 205
4058597337. 197

4058597338. 199

Question Number : 102 Question Id : 4058592209 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

S WD 4 Ybs H 7 §R &oid] ¢ SR T 34 Tleeb 3 g H 5 §R &oidl ¢
afe < diere U9 &1 990 W §9d © d U9 3¢ # fddHl aR diae ao- ot
S{TaTS W¥ TR 1 2

Options :

4058597335. 207
4058597336. 205
4058597337. 197

4058597338. 199

Question Number : 103 Question Id : 4058592210 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If 7% —2401. Then the value of x is :
Options :



4058597339. 9
4058597340. 10
4058597341. 12

4058597342. 15

Question Number : 103 Question Id : 4058592210 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0.25
gfd 73 2401 A x DI A B :

Options :

4058597339. 9
4058597340. 10
4058597341. 12

4058597342. 15

Question Number : 104 Question Id : 4058592211 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
3783 =

Options :

]

3
4058597343. 29



523
4058597344, 29

3]

9
3%
4058597345. 37

13]

4058597346, 37

Question Number : 104 Question Id : 4058592211 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

3783 =
Options:
21
4058597343 29
23

4058597344, 29

29

3
4058597345, 37

13]

4058597346, 37

Question Number : 105 Question Id : 4058592212 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

13 .. ; v :
P completes = of a work in 9 days. Then he completes the remaining work with

the help of Q 1 4 days. The time required for P and Q together to complete the
entire work 1s:

Options :

2
11— days
4058597347. 7

1
11= days
4058597348, 7

12 4 days
4058597349, 7

I.l"_. d(
4058597350. 7 °

Question Number : 105 Question Id : 4058592212 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25

p et wrf apr ngq-ﬂﬁwmﬂm%lﬁﬁa%Q I FeIar ¥ U9 B 4

ﬁ?ﬁ@aﬂm%lpaﬁqumuﬁamwwﬁ%ﬁwﬁ@
Bl 2

Options :

12 fa

4058597347. 7

3
11-
4058597348. 7

122 o

4058597349. 7



122
7

4058597350.

Question Number : 106 Question Id : 4058592213 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The length of the train. which 1is travelling with a speed of 45 kmph. and can cross
a 100 m long bridge in 30 sec.. 1s :

Options :

4058597351. 225m

4058597352. 245m

| )
|
L 1
-
=

4058597353.

4058597354, 200m

Question Number : 106 Question Id : 4058592213 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

JETIST, S 45 o AL/Ai HeT &1 71id ¥ 9d $R 100 HieR T 1 Yd 30 9ds |
IR &3 I dl 5. DI s o

Options :

4058597351. 225m

4058597352. 245m

4058597353, 275m



4058597354, 200m

Question Number : 107 Question Id : 4058592214 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The smallest fraction which should be subtracted from the sum of the following
numbers :

4

o

3 s0 as to make 1t
4

a whole number 1s :

Options :

4058597355, /12

—_——
-2

4058597356. -

p
B ™

4058597357.

R

4058597358.

Question Number : 107 Question Id : 4058592214 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

g i ford Fafafad dwems & g 9 germ el

5

*r% e Tg 17T U quf T a4 o, B -



Options :

4058597355, /12

—
2

4058597356. -

i
1

4058597357.

o

4058597358.

Question Number : 108 Question Id : 4058592215 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A canteen requires §47 bananas in a week. How many bananas did it require for
the months of January, February and March 2024 together ?

Options :

4058597359, 10.890

4058597360, 10.374

4058597361, 11.011

4058597362. 10.586

Question Number : 108 Question Id : 4058592215 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

U & &I U IE H 847 Bl Bl oxd gidl o | el Bl oas] . BIas!
3R A, 2024 T U Ty fH@@R fbd Bl & o=d Ui

Options :

4058597359, 10.890

4058597360, 10.374

4058597361, 11.011

4058597362, 10.586

Question Number : 109 Question Id : 4058592216 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A. B and C enter mto a business partnership by making investments in the ratio
3:5:7. After a year. C invests 233760 more while A withdraws Z4560. The ratio of
investments then changes to 24:59:167. How much does B invest ?

Options :

4058597363, < 22.000

4058597364, T 22.400

4058597365, < 22.980

4058597366, < 23.600

Question Number : 109 Question Id : 4058592216 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

diF oAfdd A. B QYT C 3:5:7. & 3JUId H % B 6l 912 &1 Iadq T
HIA | UH 98 915 C 233.760 BT AR 0% HA1 & TP A 24560 FHawra oa
¢ | 4 $9% 9% BT 3UId 9&AHR 24:59:167 B1 9Id1 5 | B &I (Ha¥ fa=1 g

Options:

4058597363, % 22,000

4058597364, < 22.400

4058597365, < 22.980

4058597366, < 23.600

Question Number : 110 Question Id : 4058592217 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

What will be the least number which when doubled will be exactly divisible by 10.
18,21 and 277

Options :
4058597367. 1820
4058597368. 1830

4058597369. 945

4058597370. 1890

Question Number : 110 Question Id : 4058592217 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ag gad BIT S a1 gt o oie fga1ford fvan oime a1 a8 10, 18, 21 3R 27
3 guicar faursg gt 2

Options :

4058597367. 1820

4058597368. 1830

4058597369. 945

4058597370. 1890

Question Number : 111 Question Id : 4058592218 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Anupam. a trader. sells an item to Suraj at 20% discount. but he charges 10% on
the discounted price. for packaging and delivery. Suraj sells it for T 1782 more,
thereby earning a profit of 25%. At what price had the trader marked the item?

Options :
4058597371. Z 1620
4058597372. 7450

4058597373. 2 7500

4058597374. 8100

Question Number : 111 Question Id : 4058592218 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U SOTIRI- 300 U %] IRal Bl 20% F IR [dehg Hdl 8 difh-1 98 39
U B3 3R UgaH & iU Fe foU U 0ed U 10% UIST aar § | 936l 29
a%] DI 21782 AP TR 99dl ¢ FoTad T 25% b1 a1 Bidl &1 IR A I
a&] W a1 geg siferd faoar U

Options :

4058597371. 1620

4058597372, T 7450

4058597373, 2 7800

4058597374. Z 8100

Question Number : 112 Question Id : 4058592219 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The arithmetic mean of few numbers 1s 40. If each number 1s increased by 7. and
then multiplied by 12, then the new mean will be :

Options :
4058597375, 47

4058597376. 480

4058597377. 84

I_"

4058597378. 564



Question Number : 112 Question Id : 4058592219 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

T YB3 BT BTG TIEH 40 © | Tl YD HT1 B 7 9 9141 Sl § SR
fUhR 12 T T[0T foogyT WITal §. <1 =41 [ B T:

Options :

4058597375, 47
4058597376. 430
4058597377. 84

4058597378, 564

Question Number : 113 Question Id : 4058592220 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The greatest possible number for which 38% of that number will be less then 54,
18

Options :
4058597379. 138
4058597380. 139

4058597381. 141

4058597382. 143



Question Number : 113 Question Id : 4058592220 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

ey SHfdd w1, {59 & (010 39 S8 61 38%. 54 Y HH B ©:

Options :

4058597379. 138

4058597380. 139

4058597381. 141

4058597382. 143

Question Number : 114 Question Id : 4058592221 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Two places P and Q are 120 km apart from each other on a highway. A car starts
from P and another from Q at the same tume. If they move in the same direction
they meet each other in 8§ hours. If they move in opposite directions towards each
other, they meet in 2 hours 40 minutes. What are the respective speeds of the cars
in km/hour ?

Options :
4058597383, 30. 15

4058597384, 5. 20

4058597385, 45. 25

=y
i
%]
=

4058597386. -



Question Number : 114 Question Id : 4058592221 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U SR UR & R P 3R Q U gaR ¥ 120 [ 1. Bl ¥ R 5| U PR P
T T TUT S PR Q H I TP WY gad ¢ | ufe 3 0w & fa=n & gerdt € of
sHe O UP qur 9 el 51 3l d U R U fawiia flemn d gadi g ald 2 °e
40 fie 3 e | R &1 o it (e ger) favant &

Options :

4058597383, 30. 15

4058597384, 5. 20

4058597385, 45. 25

4058597386, 45. 30

Question Number : 115 Question Id : 4058592222 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In an election between 3 candidates A. B and C. 10% registered voters did not cast
their votes and 5% votes were declared invalid. A obtained 834 votes more than B
and 1254 votes more than C. If 1.78.800 voters were registered for the election
then find the number of votes obtained by the winner.

Options :
4058597387 31.580

4058597388, 51.624

4058597389, 51.644



4058597390, 51.654

Question Number : 115 Question Id : 4058592222 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

i SHIGaRT A, B 3R ¢ @1 & fasddl g1d § 10% Usiipd Tderaisi 4 TdarH
T el for1 U4 5% Ad 3T Uit fhT MU B & a1 H A DI 834 A
P YT §UTYT ¢ B a1 8 I 1254 Td iU U1 §UI TS I1d o ferg
1.78.800 HJGIdI Yolidpd ¥, Tl faoidl &1 od fda- Ad U §U 2

Options :

4058597387 31.580
4058597388, 51.624
4058597389, 51.644

4058597390, 51.654

B-Analytical & Logical Ability

Section Id : 405859124
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15

Section Marks : 15



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 405859152
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 116 Question Id : 4058592223 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In a certain code language “ORANGE" is coded as 30-36-02-28-14-10. Then how
will ‘FRUITS’ be coded in the same language ?

Options :

4058597391, 12-36-40-18-421-36
4058597392, 12-36-42-18-40-38
4058597393. 12-36-42-16-40-38

4058597394, 12-36-40-18-42-38

Question Number : 116 Question Id : 4058592223 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U [1%d $¢ UM T ‘ORANGE® 1 PHC Ueg 30-36-02-28-14-10 & @l ST UTH
T “FRUITS’ 1 ¢ Usg 1 BT 2

Options:

4058597391. 12-36-40-18-42-306



4058597392, 12-36-42-18-40-38

4058597393. 12-36-42-16-40-38

4058597394, 11-36-40-18-421-38

Question Number : 117 Question Id : 4058592224 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Manik 1s fourteenth from the right end in a row of 40 boys. What 1s his position
from the left end ?

Options :

4058597395, 241

4058597396, 270

4058597397, 250

4058597398, 26

Question Number : 117 Question Id : 4058592224 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

IO 40 Tl HI TP HFAR T g AR T 14 d WE W g1 978 RN I 3gat
safufg s

Options :




4058597395, 24 Gl

4058597396, 27 @I

4058597397, 25 @l

4058597398, 26 I

Question Number : 118 Question Id : 4058592225 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

There are 4 members A. B. C and D 1n a family. B is the father of A and son of C.
C 1s the father of D. A is a female. How 1s A related to C 7

Options :

4058597399. Sister
4058597400. Wite

4058597401, Grand daughter

4058597402, Daughter

Question Number : 118 Question Id : 4058592225 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U YRAR T A, B, CAUID 4 GG QI B, AP UM S AU C PIGA S| C, D Bl
U 81 ATS AR 81 A, ¢ 3 [0 TR Hafa § 2



Options :

4058597399, dg-1

4058597400, Tl

4058597401. qr]

4058597402, TAI

Question Number : 119 Question Id : 4058592226 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

How many such consonants are there in the following sequence each of which 1s
immediately preceded by a vowel and immediately followed by a number ?

PQ2ED2SA925EAGSEF629
Options :

4058597403. 0
4058597404. 1
4058597405. 2

4058597406. 3

Question Number : 119 Question Id : 4058592226 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



12 & 7€ ofgen # U v avf § o St Ued U@ "R a1 e 918 Ue
3P AT B 2

PQ2ED2SA925EAGSEF629

Options :

4058597403. 0
4058597404. 1
4058597405. 2

4058597406. 3

Question Number : 120 Question Id : 4058592227 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Which of the following terms 1s given in options will replace the question mark (?)
in the following Series 7

AGW31. DIV35. GKU39, IMT43, ?
Options :

4058597407. NOS37
4058597408. MPR43

4058597409. LOT45

4058597410. MOS47

Question Number : 120 Question Id : 4058592227 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

- fau e fomed! & § $iH-91 4g A1 & 7T 4@ 8§ nHaEs s & -H
T2

AGW31, DIV35, GKU39, IMT43, ?
Options :

4058597407. NOS37
4058597408. MPR43
4058597409. LOT45

4058597410. MOS47

Question Number : 121 Question Id : 4058592228 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Seven persons M. N. O. P. Q. R and T are sitting around a circle facing towards the
centre but not necessarily in the same order. N and R are not the internmidiate
neighbours of P. O 1s sitting second to the right of R and third to the left of P. M 1s
sitting in near left of T. who 1s sitting second to the right of Q?

Options :
4058597411. O
4058597412. M

4058597413. T

4058597414. N



Question Number : 121 Question Id : 4058592228 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Id ofed M. N. 0. P. Q. R Ud T U IR H &g Bl 3R g B 88 B YT I1PI
112 7 U8 6T 81 N 3R R, P& 3l 3R Sl 78I €1 O.R & arll
a%fr{??wﬁu?% M. T & 31 a1l IR E8T81 Q & i IR g WM W
@HEE?

Options :

4058597411. O
4058597412. M
4058597413. T

4058597414. N

Question Number : 122 Question Id : 4058592229 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Seven children F, G, P, K. N, T and 8 are sitting around a circle facing away from
the centre but not necessarily in the same order. F 1s sitting immediate left of G and
third to the right of K. N 1s sitting second to the left of T and immediate right of P.
Who is sitting second to the left of G ?

Options:
4058597415. K
4058597416. T

4058597417. 5

4058597418. N



Question Number : 122 Question Id : 4058592229 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

JATHF. G, P.K.N. T 3R S TP 9 & IR 3R = P alex] SR e PR b
94 ©. Td 391 g MiAd pu 81 § | F. G & 3l sidl SR Ul K & g1t 3R
TR A REIN, TH S IR TR YA RIUPF IH AR 16F
S IR YA RBH S 2

Options :

4058597415. K
4058597416. T
4058597417. 5

4058597418. N

Question Number : 123 Question Id : 4058592230 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

In a row of students. Tanuja 1s 9™ from the left and Anuj 1s 19 from the right. If

they interchange their positions, Tanuja becomes 16™ from the left. How many
students are there in the row ?

Options:
4058597419. 31

4058597420. 33

4058597421. 34



4058597422, 35

Question Number : 123 Question Id : 4058592230 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

faenfiial &1 v dfgd &, N did 3 0 d W g U7 o 314 ¥ 194 ®”H
R g1 S 3 YT I SEd-aad Bd § ol agol 819 4 16 § RIF R 37 Sl
¢ | Ufed § o foba fasmadt 32

Options :

4058597419. 32

4058597420. 33

4058597421. 34

4058597422, 35

Question Number : 124 Question Id : 4058592231 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A+B means A is the son of B
A-B means A is the brother of B
AxB means A is the mother of B
A-+B means A 1s the father of B

if ‘B+S*xT-L+G-M-+Q’. How 1s M related to B ?
Options :



4058597423. Brother
4058597424, Father
4058597425, Father’s brother

4058597426. Mother’s father

Question Number : 124 Question Id : 4058592231 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ABBI g fd A BHIYIG
ABHHefFABTHTUE S
ABBIHUE B A BBIH G
A-BHTHI G IF A, BHIUaI I

g ‘B+S*xT-L+G-M=Q 8. AM BB I T HaY § 2
Options :

4058597423.1W§

4058597424, TH

4058597425, T0dT &1 g

4058597426, Al &1 [Udl

Question Number : 125 Question Id : 4058592232 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A statement is followed by two assumptions numbers (I) and (II). Consider the
statement and the given assumptions and decide which of the assumptions 1s
implicit i the statement 7

Statement : We must discourage wars even if it 1s known that the majority of the
victims might have been creating a lot of trouble for the peace loving people.

Assumptions : (I) Some people create a lot of trouble for the remaining people
who love peace and prospenty.

(IT) Majority of the trouble creating people got killed in the wars.
Options :

4058597427 If only assumption (I) is implicit

4058597428, If only assumption (II) 1s implicit

4058597429, 1f both (I) and (II) are implicit

4058597430, 1f neither (I) nor (II) is implicit

Question Number : 125 Question Id : 4058592232 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

U HUF & 94T &l Jan (1) SR (11) 9 718 81 HUF 3R < 713 Aramarsi i)

[aR B 3R [Fuia 33 o 14 dl araal dy= 8 sidiied 6 2

Y : U8 J1d oid 80U Ul b aiferizen difsa wifa g @i o forw siafde
i ITF B E ©. 8 g€ DI galediigd ST AMg U

=Gl : (1) S Al il R 91 94 B ared A 11 & fog siafdes
3 ST IR B |

(IT) S{ifd I B dlel HTUHET AN gl H AR T |




Options :

4058597427, Tia Had A (1) A &

4058597428, Tia DA HIGI (I1) 3{df-ied 5

4058597429, T4 &I I (1) 3R (11) SHdfHiRd &1

4058597430, 1% 71 Al TR (1) iR 1 81 5= (11) Sfdfigd g

Question Number : 126 Question Id : 4058592233 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

A Statement 1s followed by three arguments (I). (IT) and (IIT). Decide which of the
tollowing arguments 1s/are strong argument (s) :

Statement : Should road repair work in big cities be carried out only at night ?
Arguments : (I) No, this way the work will never get completed.

(IT) Yes. the commuters will face a lot of problems due to repair work during the
day.

(IIT) No, there will be unnecessary use of ‘electricity’ which will increase the cost
of repair.

Options:
4058597431, Only (I) and (II) are strong

4058597432, Only (III) is strong

4058597433, Only (II) 1s strong

4058597434, Only (II) and (III) are strong



Question Number : 126 Question Id : 4058592233 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

U Y b UL A1 a0 (1), (I1) 3R (1) 3T 71U § 1 iy &% o Fafaraa
d®f 4 T S 9Yad a@ o7

PYF : T Fs TR H Go& IREd HT B dbad A J fear oy =nfgu 2
b : (1) Tol. 39 oRe IRd &1 Sl 1 g1 781 gr |

() &F. 39 & oud o1l & SR O1ET] & &g BieA5dl & I S
g |

(I1T) Fol. fSoid! &7 3F1aRgs IUgNT el forgy B3 d ® drTd d¢vl |

Options:

4058597431, PaC T (1) HR (11) T €|

4058597432, DA A (III) HIH & |

4058597433, DA dd (IT) Y g |

4058597434, PAC qeb (11) IR (117) HIEK © |

Question Number : 127 Question Id : 4058592234 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25



In the question given below a statement 1s followed by two courses of action
numbered (I) and (II). You have to assume everything in the statement to be true
and on the basis of the information given in the statement. decide which of the
suggested courses of action logically follow(s) for pursuing.

Statement : Some serious blunders were detected in the accounts section of a
factory.

Courses of action : I. An efficient team of auditors should be appomted to check
the accounts.

II. A show-cause notice should be 1ssued to all the employees involved in the
irregularity.

Options :

4058597435, 1f only I follows

4058597436, 1f only II follows

4058597437. If neither I nor II follows

4058597438, If both I and II follows

Question Number : 127 Question Id : 4058592234 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

= feu U Uy ¥ ve Sy RO AT 81 39% YR | 19 11 & Sraiarsar of
TS &1 YU B T HIHT qUT €1 TS SHPRI & YR W a9 $Iferg & fqu g
prafasail & § HH-0 qIfH® 9 ¥ FueH s a gl
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Options :

4058597435.



$ad I U oq 34 o |

4058597436, PIT 11 SFIHTEH &g 3T B

4058597437, 1171 Bl I1 30 8 Sfad 8|

4058597438, 1 @ 11 Al 30T &q ST B

Question Number : 128 Question Id : 4058592235 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

In the given question below. which one of the interchanges in signs and numbers
would make the given equation correct ?

(3+4)+2=2
Options :

4058597439, ~ and +. 2 and 3
4058597440, ~ and =, 2 and 4

4058597441, ~ and =, 3 and 4

4058597442, No interchange. 3 and 4

Question Number : 128 Question Id : 4058592235 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
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(3+4)+2=2
Options :

4058597439, 3R +,2 3R 3

4058597440, © 3R +,2 3R 4

4058597441, + AR +. 3 3R 4

4058597442, PI% Hclld TRkad gl 3 Td 4

Question Number : 129 Question Id : 4058592236 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

If 10th January 2012 is a Saturday, then what is the day on 26 March 2012 2
Options :

4058597443, Monday

4058597444, Wednesday

4058597445, Friday

4058597446, Sunday

Question Number : 129 Question Id : 4058592236 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
g 10 SaRT 2012 UHTR © 1 26 A/ 2012 B HI 91 {6 8I1 2

Options :

4058597443, TIHAR

4058597444, THAR

4058597445, IPIR

4058597446, I(GAR

Question Number : 130 Question Id : 4058592237 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Find the wrong term in the following number series :
6, 15,35, 77,143, 231
Options :

4058597447. 143

4058597448. 231

i

4058597449, 3

4058597450. 77

Question Number : 130 Question Id : 4058592237 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
- <t 1% FE e O 9 Ted T &1 gdl asu -

0, 15, 35, 77,143, 231

Options :

4058597447, 143

4058597448. 231

4058597449. 35

4058597450. 77
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Number of Questions : 4
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Sub-Section Number : 1
Sub-Section Id : 405859153
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Question Id : 4058592238 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (131 to 135)

Question Label : Comprehension

Read the following passage and answer the questions that follow —

Private equity funds Argan Mauritius and TA Associates-backed Atria
Convergence Technologies (ACT) has reported an operating revenue of 22,273
crore in FY23, up 5.4% from Z2.156 crore in the previous fiscal.

The company’s net profit increased 3.5% to 353 crore amid a 6% jump in
expenses to T1.826 crore. Employee benefit expenses rose 15% to T556 crore.

ACT provides broadband and cable TV services in cities and towns in Karnataka,
Andhra Pradesh. Telangana. Tamil Nadu and Delli - NCR.

The company, which operates in over 20 cities with a dominant presence in
southern India, has been expanding its presence in northern India in the last few
years. Its revenue from the broadband segment jumped 6.4% to Z2.081 crore while
revenue from the cable TV segment decreased 3.5% to 2192 crore.

The Bengaluru headquartered company’s operating profit from the broadband
segment surged 31% to 479 crore. It recorded an operating loss of 7102 crore
from the cable TV segment against and operating profit of 23.9 crore a year ago.

The company didn’t provide any comment for the story.

It incurred a capital expenditure of 347 crore. down almost 20% from 2467 crore.
ACT’s revenue has been expanding as a result of inereased customer demand for
data for entertainment. education and work-from-home purposes.

It has a strategic partnership with Netflix. allowing its users to access Netflix
subscriptions as part of their internet bundles at no extra cost.

Sub questions

Question Number : 131 Question Id : 4058592239 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

The only place in north India where ACT has its presence currently is :

Options :



4058597451, Karnataka

4058597452, Telangana

4058597453, Bengaluru

4058597454, Delhi — NCR

Question Number : 132 Question Id : 4058592240 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Company which has dominant presence in southern India in broadband
Services 1s

Options :

4058597455, Argan Mauritius

4058597456. TA Associates

4058597457, Atria Convergence Technologies

4058597458, Nettlix

Question Number : 133 Question Id : 4058592241 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ACT’s broadband segment operating profit increased by :
Options :

4058597459. 5.4%



4058597460. 3.5%

4058597461. 6.4%

4058597462, 31%

Question Number : 134 Question Id : 4058592242 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

surge : increase :: fiscal :

Options :

4058597463, cquity fund

4058597464, financial year

4058597465, cmployee benefit

4058597466, Operating profit

Question Number : 135 Question Id : 4058592243 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ACT 1s continually showing an increase in its revenue due to :
Options :

4058597467, ncrease in employee benefit expenses.



4058597468, 1ts dominant presence in southern India and expansion in northern India.

4058597469, Increase in its operating profit from the broadband segment.

4058597470. increased customer demand for data.

Question Id : 4058592238 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (131 to 135)

Question Label : Comprehension

Read the following passage and answer the questions that follow —

Private equity funds Argan Mauritius and TA Associates-backed Atria
Convergence Technologies (ACT) has reported an operating revenue of 22,273
crore in FY23. up 5.4% from ¥2.156 crore in the previous fiscal.

The company’s net profit increased 3.5% to 353 crore amid a 6% jump in
expenses to 1,826 crore. Employee benefit expenses rose 15% to 556 crore.

ACT provides broadband and cable TV services in cities and towns in Karnataka,
Andhra Pradesh. Telangana. Tamil Nadu and Delhi - NCR.

The company. which operates i over 20 cities with a dominant presence mn
southern India. has been expanding its presence in northern India in the last few
years. Its revenue from the broadband segment jumped 6.4% to 2.081 crore while
revenue from the cable TV segment decreased 3.5% to 3192 crore.

The Bengaluru headquartered company’s operating profit from the broadband
segment surged 31% to 479 crore. It recorded an operating loss of 2102 crore
from the cable TV segment against and operating profit of Z3.9 crore a year ago.

The company didn’t provide any comment for the story.

It incurred a capital expenditure of 2347 crore, down almost 20% from 2467 crore.
ACT’s revenue has been expanding as a result of increased customer demand for
data for entertamnment, education and work-from-home purposes.

It has a strategic partnership with Netflix. allowing its users to access Netflix
subscriptions as part of their internet bundles at no extra cost.

Sub questions



Question Number : 131 Question Id : 4058592239 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The only place in north India where ACT has its presence currently is :
Options :

4058597451, Karnataka

4058597452, Telangana

4058597453, Bengaluru

4058597454, Delhi — NCR

Question Number : 132 Question Id : 4058592240 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The Company which has dominant presence in southern India in broadband
SEIVICES 1§ ;

Options :
4058597455, Argan Mauritius

4058597456. TA Associates

4058597457, Atria Convergence Technologies

4058597458, Nettlix

Question Number : 133 Question Id : 4058592241 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

ACT’s broadband segment operating profit inereased by :
Options :

4058597459. 5.4%

4058597460. 3.5%

4058597461. 6.4%

4058597462, 31%

Question Number : 134 Question Id : 4058592242 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

surge : increase :: fiscal :
Options:

4058597463, equity fund
4058597464, financial year

4058597465, cmployee benefit

4058597466, Operating profit

Question Number : 135 Question Id : 4058592243 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0.25

ACT 1s continually showing an increase in its revenue due to :

Options :

4058597467, ncrease in employee benefit expenses.

4058597468, 1ts dominant presence in southern India and expansion in northern India.

4058597469, Increase in its operating profit from the broadband segment.

4058597470. increased customer demand for data.

Sub-Section Number : 2
Sub-Section Id : 405859154
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592244 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (136 to 140)

Question Label : Comprehension



Read the given passage and answer the questions that follow :—
FEDBANK FINANCIAL SERVICES :

(Fedfina) on Friday said it plans to raise up to ¥1.092-crore through an initial
public offering opening on November 22.

The Reserve Bank's circular icreasing the risk weights on unsecured lending wall
increase the borrowing costs. but the negative market sentiment will not impact the
offering. managing director and chief executive officer Anil Kothuri told reporters.

Fedfina. a subsidiary of south based Federal Bank. has set a price band of 133-
140 per share for the 1ssue which comes amud a raft of other 1ssuances before the
holiday season and the next year’s general elections. The issue will open for three
days starting November 22.

The offer consists of fresh 1ssue of 600 crore, while the rest is offer for sale under
which existing shareholders. including Federal Bank and homegrown private
equity fund True North are exiting.

Kothuri said that post 1ssue. Federal Bank’s overall holding will come down to
61% from the present 73%. while True North’s holding will come down to 8.5%
from the present 25%.

The new investors will hold over 31% of shares post - 1ssue. True North had first
invested the company in November 2018 at 42 per share, whale the last fund
raising by the company was a rights issue in November 2021, when shares were
subscribed at ¥70. Kothuri said.

Sub questions

Question Number : 136 Question Id : 4058592245 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fedfina 1s hopeful that :—

Options :

the Reserve Bank's circular mncreasing the risk weights on unsecured lending will
4058597471 . increase the borrowing cost.

4058597472, the negative market sentiment will not impact the mnitial public offering.

4058597473, Post issue. Federal Bank's overall holding will come down to 61%.



4058597474, the 1ssue will open for three days starting November 22.

Question Number : 137 Question Id : 4058592246 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The factors that have contributed towards companies taking out IPOs are —
Options :

4058597475. The Reserve Bank's circular

4058597476, Nil impact of the negative market sentiment.

4058597477, Holding season and next year’s general elections.

4058597478, A desire to get new mvestors.

Question Number : 138 Question Id : 4058592247 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Post the 1ssue. Federal Bank’s overall holding —
Options :

4058597479, Will reduce by 12%.
4058597480. will come down to 73%

4058597481. will come down to 61%

4058597482. will amount to 600 crore



Question Number : 139 Question Id : 4058592248 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate antonym for “‘UNSECURED" as it appears in context.

Options :

4058597483. secret

4058597484, pledged

4058597485, gallant

4058597486. concealed

Question Number : 140 Question Id : 4058592249 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following group of words —

‘a business company that 1s owned or controlled by another larger company.’
Options :

4058597487 subsidiary

4058597488, Private squity

4058597489, holding

4058597490. ratt



Question Id : 4058592244 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Question Numbers : (136 to 140)

Question Label : Comprehension

Read the given passage and answer the questions that follow :—
FEDBANK FINANCIAL SERVICES :

(Fedfina) on Friday said it plans to raise up to ¥1.092-crore through an imtial
public offering opening on November 22.

The Reserve Bank'’s circular mcreasing the risk weights on unsecured lending wall
increase the borrowing costs, but the negative market sentiment will not impact the
offering. managing director and chief executive officer Anil Kothuri told reporters.

Fedfina. a subsidiary of south based Federal Bank. has set a price band of 133-
140 per share for the 1ssue which comes amid a raft of other issuances before the
holiday season and the next year’s general elections. The issue will open for three
days starting November 22.

The offer consists of fresh 1ssue of T600 crore, while the rest is offer for sale under
which existing shareholders. including Federal Bank and homegrown private
equity fund True North are exiting.

Kothuri said that post 1ssue. Federal Bank’s overall holding will come down to
61% from the present 73%. while True North’s holding will come dovwn to 8.5%
from the present 25%.

The new mvestors will hold over 31% of shares post - 1ssue. True North had first
invested the company in November 2018 at 42 per share, while the last fund
raising by the company was a rights 1ssue in November 2021. when shares were
subscribed at 270. Kothuri said.

Sub questions

Question Number : 136 Question Id : 4058592245 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25
Fedtina 1s hopetul that -

Options :



the Reserve Bank's circular increasing the risk weights on unsecured lending will
4058597471, increase the borrowing cost.

4058597472, the negative market sentiment will not impact the mitial public offering.

4058597473, Post issue. Federal Bank's overall holding will come down to 61%.

4058597474, the 1ssue will open for three days starting November 22.

Question Number : 137 Question Id : 4058592246 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The factors that have contributed towards companies taking out IPOs are —
Options :

4058597475. The Reserve Bank's circular

4058597476, Nil impact of the negative market sentiment.

4058597477, Holding season and next year’s general elections.

4058597478, A desire to get new investors.

Question Number : 138 Question Id : 4058592247 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Post the 1ssue. Federal Bank's overall holding —

Options :



4058597479, Will reduce by 12%.

4058597480. will come down to 73%

4058597481. will come down to 61%

4058597482, will amount to ¥ 600 crore

Question Number : 139 Question Id : 4058592248 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25
Choose the appropriate antonym for “‘UNSECURED" as it appears in context.

Options :

4058597483. secret

4058597484, pledged

4058597485, gallant

4058597486. concealed

Question Number : 140 Question Id : 4058592249 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Give one word for the following group of words —

‘a business company that 1s owned or controlled by another larger company.’

Options :



4058597487, subsidiary

4058597488, Private equity

4058597489, holding

4058597490. ratt

Sub-Section Number : 3
Sub-Section Id : 405859155
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592250 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following passage and answer the questions that follow —

In a boost for Swiggy. its US—based investor Invesco has yet again marked up the
startup’s valuation. Regulatory filings made with the US SEC showed that the
asset manager valued the food delivery company at about $8.3 billion as of
October 31, 2023, This 1s higher than the valuation of $7.8 billion that Invesco had
ascribed the Bengaluru-based firm in its earlier mark up at the end of July.

With this recent mark up. Invesco has raised the startup’s valuation for a second
straight tume. The firm held about 2% stake in Swiggy as of November 2023, data
sourced from market research firm Tracxn showed. The valuation boost 1z a
positive development for Swiggy which is understood be preparing for public
market debut. The latest valuation. 18 however, lower than the firm’s peak
valuation of $10.7 billion at which it had raised $700 million from investors led by
Invesco in January 2022,

Amid a funding winter and strict investor vigilance. Swiggy had faced valuation
mark downs by investors last year with Invesco having slashed its valuation to
$5.5 billion (as of January 2023).

Sub questions



Question Number : 141 Question Id : 4058592251 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The factor that will contribute positively to Swiggy's public market debut 15 —
Options :

4058597491, raising funds from investors

4058597492 regulatory filings made with the US SEC.

4058597493, strict investor vigilance

4058597494, Valuation mark up

Question Number : 142 Question Id : 4058592252 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Another term used for Invesco 1s the passage 1s —
Options :

4058597495, food delivery company

4058597496, startup

4058597497. asset manager

4058597498, market research firm



Question Number : 143 Question Id : 4058592253 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Invesco invested in Swiggy in —
Options :

4058597499, October 2023

4058597500. November 2023

4058597501, January 2022

4058597502, January 202

Question Number : 144 Question Id : 4058592254 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The valuation of Swiggy when it took investments was —

Options :

4058597503, $ §.3 billion

4058597504, $ 7.8 billion

4058597505, $ 10.7 billion

4058597506. $ 5.5 billion

Question Number : 145 Question Id : 4058592255 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0.25
The closest synonym for “vigilance’ 1s —

Options :

4058597507. watchfulness

4058597508. valuation

4058597509. interest

4058597510. resilience

Question Id : 4058592250 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (141 to 145)

Question Label : Comprehension

Read the following passage and answer the questions that follow —

In a boost for Swiggy. its US—based investor Invesco has yet again marked up the
startup’s valuation. Regulatory filings made with the US SEC showed that the
asset manager valued the food delivery company at about $8.3 billion as of
October 31, 2023, This 1s higher than the valuation of $7.8 billion that Invesco had
ascribed the Bengaluru-based firm in its earlier mark up at the end of July.

With this recent mark up, Invesco has raised the startup’s valuation for a second
straight tume. The firm held about 2% stake in Swiggy as of November 2023, data
sourced from market research firm Tracxn showed. The valuation boost 1z a
positive development for Swiggy which 1s understood be preparing for public
market debut. The latest valuation. 18 however, lower than the firm’s peak
valuation of $10.7 billion at which it had raised $700 million from investors led by
Invesco in January 2022,

Amid a funding winter and strict investor vigilance. Swiggy had faced valuation
mark downs by investors last year with Invesco having slashed its valuation to
$5.5 billion (as of January 2023).

Sub questions



Question Number : 141 Question Id

: 4058592251 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The factor that will contribute positively to Swiggy's public market debut 15 —

Options :

4058597491 . raising funds from mnvestors

4058597492 regulatory filings made with the US SEC.

4058597493, strict investor vigilance

4058597494, Valuation mark up

Question Number : 142 Question Id

: 4058592252 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Another term used for Invesco is the passage 13 —

Options:

4058597495, food delivery company

4058597496, startup

4058597497. asset manager

4058597498. market research firm

Question Number : 143 Question Id

: 4058592253 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Invesco invested in Swiggy in —
Options :

4058597499, October 2023

4058597500. November 2023

4058597501, January 2022

4058597502, January 2023

Question Number : 144 Question Id : 4058592254 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

The valuation of Swiggy when it took investments was —

Options :

4058597503 $ §.3 billion

4058597504, $ 7.8 billion

4058597505. % 10.7 ballion

4058597506. $ 5.5 billion

Question Number : 145 Question Id : 4058592255 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0.25

The closest synonym for ‘vigilance’ 1s —

Options :

4058597507. watchfulness

4058597508. valuation

4058597509. imterest

4058597510. resilience

Sub-Section Number : 4
Sub-Section Id : 405859156
Question Shuffling Allowed : No

Is Section Default?: null

Question Id : 4058592256 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Red the given passage and answer the question that follow -
ARCHIES KNOWN FOR

popularising greeting cards m the 90’s. i1s now banking on quick commerce
platforms such as Zepto, Swiggy’s Instamart and Zomato’s Blinkit to drive a
revival m sales. The pandemic had pushed the gifting retailer into losses.

“It’s going to be a game changer for our brand. We are already available on
Blinkit and expect to finalise talks with other quick commerce players by the
fourth quarter.” Varun Moolchandani, executive director, Archies, said.

Archies began listing its products on Blinkit about two—three months ago and has
so far seen strong sales on the platform. particularly for its paper products such
as wrapping paper, gifting envelopes and bags. and greeting cards. “We have
never seen this kind of sales numbers for our products.” he added.

With competition intensifying in the sector, quick commerce players are
aggressively expanding their category offerings to attract more users. Legacy
brands such as Archies are cashing in on this rivalry and getting their products
closer and faster to customers.

Once famous for its Valentine’s Day greeting cards, Archies has been struggling
for many years to attract the youngers generation to its stores., who prefer social
media posts and other digital alternatives. Moreover, the pandemic had worsened
the company’s financials as lockdowns had forced it to shut stores. some even
permanently.

Archies now runs about 300 physical stores across India. including company
owned ones and franchises. Prior to the pandemic. its had 450 retail stores.

Between FY20 and FY22 the company had posted a total net loss of T 12.2
crore, while the revenue had nearly halved during the period.

The company is also making mvestments to merease the number of retail stores
and franchises. “Our major focus will be high street and north India for at least a
year and a half. For both company - owned stores and franchises. our idea is to
capture the tier 2 and 3 markets,” Moolchandani said.

The company plans to add at least 25-30 physical stores a year and increase its
partnerships with third-party brands. which sell their gifting category products
through Archies. At present, personal care brands such as Mamaearth and
mCaffeme sell their girt packs through Archies outlets and their website.

“We will not achieve the numbers which we had 15 years ago. but we will try to
innovate to have new and unique greeting cards so that people are excited to see
our products.” he added.

Sub questions

Question Number : 146 Question Id : 4058592257 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Archies cards can be purchased presently at —



Options :

4058597511, Zepto

4058597512. Instamart

4058597513, Swiggy

4058597514. Blinkit

Question Number : 147 Question Id : 4058592258 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Archies wants to take advantage of —
Options :

4058597515, strong sales of its paper products.

4058597516, Ivalry between quick commerce players.

4058597517, 1ts status as a legacy brand.

4058597518. its investments to increase the number of retail stores and franchises.

Question Number : 148 Question Id : 4058592259 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Archies will be available on many quick commerce platforms by —

Options :



40585975109. Iﬂllllﬂi'}-' onwards

4058597520, April onwards

4058597521, July onwards

4058597522, October onwards

Question Number : 149 Question Id : 4058592260 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Archies has a third party brand partnership with
Options :

4058597523. Blinkit and Zepto

4058597524, Instamart and Blinkit

4058597525, Retail stores and franchises

4058597526. Mamaearth and mCaffeine

Question Number : 150 Question Id : 4058592261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words :

‘done as part of a plan that 1s meant to achieve a particular purpose or to gain an
advantage.’

Options :



4058597527. Squity

4058597528, strategic

4058597529. benefit

4058597530, Subscription

Question Id : 4058592256 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (146 to 150)

Question Label : Comprehension



Red the given passage and answer the question that follow -
ARCHIES KNOWN FOR

popularising greeting cards m the 90’s. i1s now banking on quick commerce
platforms such as Zepto, Swiggy’s Instamart and Zomato’s Blinkit to drive a
revival m sales. The pandemic had pushed the gifting retailer into losses.

“It’s going to be a game changer for our brand. We are already available on
Blinkit and expect to finalise talks with other quick commerce players by the
fourth quarter.” Varun Moolchandani, executive director, Archies, said.

Archies began listing its products on Blinkit about two—three months ago and has
so far seen strong sales on the platform. particularly for its paper products such
as wrapping paper, gifting envelopes and bags. and greeting cards. “We have
never seen this kind of sales numbers for our products.” he added.

With competition intensifying in the sector, quick commerce players are
aggressively expanding their category offerings to attract more users. Legacy
brands such as Archies are cashing in on this rivalry and getting their products
closer and faster to customers.

Once famous for its Valentine’s Day greeting cards, Archies has been struggling
for many years to attract the youngers generation to its stores., who prefer social
media posts and other digital alternatives. Moreover, the pandemic had worsened
the company’s financials as lockdowns had forced it to shut stores. some even
permanently.

Archies now runs about 300 physical stores across India. including company
owned ones and franchises. Prior to the pandemic. its had 450 retail stores.

Between FY20 and FY22 the company had posted a total net loss of T 12.2
crore, while the revenue had nearly halved during the period.

The company is also making mvestments to merease the number of retail stores
and franchises. “Our major focus will be high street and north India for at least a
year and a half. For both company - owned stores and franchises. our idea is to
capture the tier 2 and 3 markets,” Moolchandani said.

The company plans to add at least 25-30 physical stores a year and increase its
partnerships with third-party brands. which sell their gifting category products
through Archies. At present, personal care brands such as Mamaearth and
mCaffeme sell their girt packs through Archies outlets and their website.

“We will not achieve the numbers which we had 15 years ago. but we will try to
innovate to have new and unique greeting cards so that people are excited to see
our products.” he added.

Sub questions

Question Number : 146 Question Id : 4058592257 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Archies cards can be purchased presently at —



Options :

4058597511, Zepto

4058597512. Instamart

4058597513, Swiggy

4058597514. Blinkit

Question Number : 147 Question Id : 4058592258 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Archies wants to take advantage of —
Options :

4058597515, strong sales of its paper products.

4058597516, Ivalry between quick commerce players.

4058597517, 1ts status as a legacy brand.

4058597518. its investments to increase the number of retail stores and franchises.

Question Number : 148 Question Id : 4058592259 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0.25

Archies will be available on many quick commerce platforms by —

Options :



40585975109. Iﬂllllﬂi'}-' onwards

4058597520, April onwards

4058597521, July onwards

4058597522, October onwards

Question Number : 149 Question Id : 4058592260 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Archies has a third party brand partnership with
Options :

4058597523. Blinkit and Zepto

4058597524, Instamart and Blinkit

4058597525, Retail stores and franchises

4058597526. Mamaearth and mCaffeine

Question Number : 150 Question Id : 4058592261 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0.25

Choose one word for the given group of words :

‘done as part of a plan that 1s meant to achieve a particular purpose or to gain an
advantage.’

Options :



4058597527. Squity

4058597528, strategic

4058597529. benefit

4058597530, Subscription



